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The following table shows the income and expenditure (in ¥ millions) of a certain Company during
the five years from 2018 - 2022, along with profit % and loss % incurred in all these years. Some
values are missing in the table (indicated by ') that you are expected to calculate if required.
Based on the data in the table, answer the questions that follow.

Year-wise Income, Expenditure and Profit/Loss of a Company

Year |Expenditure (in3 millions) | Income (in¥ millions) | Profit %(+) / Loss %()
2018 192 . +15%

2019 248 = s

2020 210 . +20%

202 - 359.6 :

2022 £ : -12%

Sub questions

Question Number : 1 Question Id : 87827021627 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Profit in 2020 is % more than in 2018 :
(1) 56.76

(2) 44.98

(3) 45.83

(4) 59.82
Options :

87827085541. 1
87827085542. 2
87827085543. 3

87827085544. 4

Question Number : 2 Question Id : 87827021628 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

[n 2022, if the expenditure of company was 15% more as compared to 2019, then the income of the
company in 2022 was (in < million) :

(1) 250976

(2) 248.976

(3) 250936

(4) 230.936
Options :
87827085545. 1
87827085546. 2
87827085547. 3

87827085548. 4

Question Number : 3 Question Id : 87827021629 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

[£ the loss incurred by the Company in 2019 was ¥33.2 million more than the profit of the Company
in 2018, then the loss percent incurred by the Company in 2019 was :

) 17%
) 2%
) 25%
) 23%
Options :
87827085549. 1
87827085550. 2
87827085551. 3

87827085552. 4

Question Number : 4 Question Id : 87827021630 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

[n 2021, if the profit percent (%) of the company was higher by 60% of the profit percent (%) in
2018, then the percent increase (approximately) in the expenditure of the Company in 2021 as
compared to the previous year would be :

1) 4%
Q) H%
(3) 41%
@) 38%
Options:

87827085553. 1
87827085554. 2
87827085555. 3

87827085556. 4

Question Number : 5 Question Id : 87827021631 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

What is the average of the income of the Company in 2018 and 2020 (in < million) ?
1) 2208
) 2364
3) 2522
4)  246.6

2

— — |

Options :

87827085557. 1
87827085558. 2
87827085559. 3

87827085560. 4



Question Id : 87827021626 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (1 to 5)

Question Label : Comprehension
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Sub questions

Question Number : 1 Question Id : 87827021627 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

2020 H B3 &9 2018 & &9 § fehdd % Af¥eh g2

(1) 56.76
(2) 44.98
(3) 45.83
(4) 59.82

Options :

87827085541. 1



87827085542. 2
87827085543. 3

87827085544. 4

Question Number : 2 Question Id : 87827021628 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :
87827085545. 1
87827085546. 2
87827085547. 3

87827085548. 4

Question Number : 3 Question Id : 87827021629 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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87827085549. 1
87827085550. 2
87827085551. 3

87827085552. 4

Question Number : 4 Question Id : 87827021630 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827085553. 1
87827085554. 2
87827085555. 3

87827085556. 4

Question Number : 5 Question Id : 87827021631 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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(1) 2208
(2) 2364
(3) 2522
(4) 246.6

Options :



87827085557. 1
87827085558. 2
87827085559. 3

87827085560. 4

Sub-Section Number : 2
Sub-Section Id : 878270960
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 6 Question Id : 87827021632 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

The organised bodies of information stored in memory that bias the way new information is
interpreted, stored, and recalled is known as

(1)  Constructive process
) Schemas
3)  Chunks
)

Association
Options :
87827085561. 1
87827085562. 2
87827085563. 3
87827085564. 4

Question Number : 6 Question Id : 87827021632 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

87827085561. 1
87827085562. 2

87827085563. 3
87827085564. 4

Question Number : 7 Question Id : 87827021633 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following are the components of pedagogical analysis of teaching and learning ?
(A) Objective formulation

(B) Selection of teaching methods and materials

(C) Content analysis

(D) Selection of evaluation devices

Choose the correct answer from the options given below :
(1) (B), (€)and (D) Only

() (A) and (D) Only
(3) (A) () (C)an (D)
(4) (B)and (C) Onl
Options :

87827085565. 1
87827085566. 2

87827085567. 3



87827085568. 4

Question Number : 7 Question Id : 87827021633 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827085565. 1
87827085566. 2
87827085567. 3

87827085568. 4

Question Number : 8 Question Id : 87827021634 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement I:  In teacher centred learning the teacher gives up the traditional decision making
role and chooses instead the role of a facilitator who focuses on students feelings.

Statement I In learner centred method the teacher attempts to see the world as the students
see it, creating an atmosphere of empathetic communication.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement IT are correct
2

2
(3) Statement I is correct but Statement I is incorrect
4

Both Statement I and Statement II are incorrect

Statement [ 15 incorrect but Statement II is correct
Options:

878270855609. 1

87827085570. 2

87827085571. 3

87827085572. 4

Question Number : 8 Question Id : 87827021634 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827085569. 1
87827085570. 2
87827085571.3

87827085572. 4

Question Number : 9 Question Id : 87827021635 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement I:  Theability o generate unusual, yet appropriate, responses to problems or questions
15 known as convergent thinking,

Statement IT :  The ability to produce responses that are based primarily on knowledge and logic
is known as divergent thinking,

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement IT are correct
2

2
(3) Statement I is correct but Statement I is incorrect
4

Both Statement I and Statement II are incorrect

Statement [ 15 incorrect but Statement II is correct
Options:

87827085573. 1

87827085574 2

87827085575. 3

87827085576. 4

Question Number : 9 Question Id : 87827021635 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827085573. 1
87827085574. 2
87827085575. 3

87827085576. 4

Question Number : 10 Question Id : 87827021636 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements : one is labelled as Assertion (A) and the other is labelled as
Reason (R).

Assertion (A) : No test provides a perfect picture of a student's abilities and skills.
Reason (R) : A test s only one small sample of a student's performance,

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both (A) and (R) are correct and (R) s the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A)
(3) (A) s correct but (R) is not correct

(4) (A} s not correct but (R) is correct

Options:

87827085577. 1

87827085578. 2

87827085579. 3

87827085580. 4

Question Number : 10 Question Id : 87827021636 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :



87827085577. 1
87827085578. 2
87827085579. 3

87827085580. 4

Question Number : 11 Question Id : 87827021637 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

An epistemological position that advocates the application of the methods of the natural sciences
to the study of soctal reality and beyond, refers to

(1) Positivism

2)  Interpretivism
3)  Objectivism

)

(
(
l

Constructionism
Options :
87827085581. 1
87827085582, 2
87827085583. 3

87827085584. 4

Question Number : 11 Question Id : 87827021637 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options:

87827085581. 1
87827085582. 2
87827085583. 3

87827085584. 4

Question Number : 12 Question Id : 87827021638 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Identify the similarities between quantitative and qualitative research :
(A) Both are concerned with data reduction.

(B) Both are concerned with variation in data.

(C) Both lay emphasis on contextual understanding,

(D) Both lay emphasis on generalization.

(E) Both are concerned with answering research questions.

Choose the correct answer from the options given below :

(1) (A) and (D) Only

(2) (A), (B), (D) and (E) Only
(3) (B) (D) and (E) Only

(4) (A), (B) and (E) Only
Options :

87827085585. 1

87827085586. 2



87827085587. 3
87827085588. 4

Question Number : 12 Question Id : 87827021638 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827085585. 1
87827085586. 2
87827085587. 3

87827085588. 4

Question Number : 13 Question Id : 87827021639 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



dentify the correct reasons for writing a literature review :
A) You need to know what is already known in connection with your research area.

I

(

(B) It may help you to develop an analytic framework.
(C) It will help with the interpretation of your findings.
(D) It may suggest further research questions for you.

Choose the correct answer from the options given below :
(1) (A)and (B) Only

(2) (B), (C) and (D) Only
(3) {A) () and (D) Only
(4 (4), (B) () and (D)
Options:

87827085589. 1
87827085590. 2
87827085591. 3

87827085592. 4

Question Number : 13 Question Id : 87827021639 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827085589. 1

87827085590. 2

87827085591. 3
87827085592. 4

Question Number : 14 Question Id : 87827021640 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



[dentify the sampling issues that are problematic in online surveys :
(A) Many people use more than one internet service provider.

(B) Every person has only one (unique) email address.

(C) A house hold may have one computer but several users.
(D) Internet users are a biased sample of the population.
Choose the correct answer from the options given below :

(1) (A), (B) and (C) Only

(2)  (B), (C) and (D) Only
(3) (A), (B)and (D) Only
(4)  (A), (C) and (D) Only
Options:

87827085593. 1
87827085594. 2
87827085595. 3

87827085596. 4

Question Number : 14 Question Id : 87827021640 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827085593. 1
87827085594. 2
87827085595. 3

87827085596. 4

Question Number : 15 Question Id : 87827021641 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which among the following is an open source software for data analysis ?
(1) SPSS

(2) MATLAB
3) R

(4) MINITAB
Options :
87827085597. 1
87827085598 2

87827085599. 3



87827085600. 4

Question Number : 15 Question Id : 87827021641 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827085597. 1

87827085598. 2

87827085599. 3

87827085600. 4

Question Number : 16 Question Id : 87827021642 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

When the primary function of communication is to convey new information, it is known as
1) Subliminal function

8 Single task function
(3) Referential function
(4) Differential function
Options :
87827085601. 1
87827085602. 2

87827085603. 3



87827085604. 4

Question Number : 16 Question Id : 87827021642 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827085601. 1
87827085602. 2
87827085603. 3

87827085604. 4

Question Number : 17 Question Id : 87827021643 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

One of the four maxims of conversation, quantity maxim, reflects the right amount of :
(1) Paradigms

(2) Syntagms

(3) Similes
(4) Information
Options :
87827085605. 1
87827085606. 2

87827085607. 3



87827085608. 4

Question Number : 17 Question Id : 87827021643 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827085605. 1
87827085606. 2
87827085607. 3

87827085608. 4

Question Number : 18 Question Id : 87827021644 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following contextual factors determine meaning in communication behaviour ?
A)  Physical locafion

B) Participants

(
(
(C) Preceding events
(D) Nonfunctional goals
(E) Absence of audience

Choose the correct answer from the options given below :
(1) (A), (B) and (C) Only

() (B), (C) and (D) Only
() (C), (D) and (E) Only
(4) (A), (D) and (E) Only
Options :

878270856009. 1
87827085610. 2
87827085611. 3

87827085612. 4

Question Number : 18 Question Id : 87827021644 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

87827085609. 1
87827085610. 2
87827085611.3

87827085612. 4

Question Number : 19 Question Id : 87827021645 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following belong to the field of proxemics in communication ?
(A) Facial expressions
(B) Crowding
(C) Territoriality
(D) Personal space

(E) Eye contact

Choose the correct answer from the options given below :
(1) (A), (B) and () Only

(2)  (B), (C) and (D) Only
(3) (C), (D) and (E) Only
(4) (A) (D) and (E) Only
Options:

87827085613. 1
87827085614. 2
87827085615. 3
87827085616. 4

Question Number : 19 Question Id : 87827021645 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



frefafad # 9 -9 =R 4 gHe fomn & &5 9 et € 2

(A) HEH FEE

(B) fe-wre

(C) YIewiHa

(D) SAfemTd &

(E) =g Hh

i feu 1 fosedl ° 9 WEr I F T FifC:

(1) < (A), (B) 3T (C)

(2) 94 (B), (C) 3 (D)

(3) < (C), (D) SR (E)

(4) I (A), (D) 3R (E)
Options :

87827085613. 1
87827085614. 2
87827085615. 3

87827085616. 4

Question Number : 20 Question Id : 87827021646 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement (1) : - According to Buddhism, linguistic communication should be used to adopt moral
stance.

Statement (1) : Critical introspection is not preferred by Buddhists as part of intra-personal
communication.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct
2

2
(3) Statement I is correct but Statement I1 is incorrect.
4

Both Statement [ and Statement II are incorrect.

Statement [ s incorrect but Statement II is correct.
Options:

87827085617. 1

87827085618. 2

87827085619. 3

87827085620. 4

Question Number : 20 Question Id : 87827021646 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

g A fem E:
HL: A o o R, ST SR 1 e A 9 A i o o o frn o e

TR A 2 ST e & sl don o e & w0 o oo 7 & 9
2l

T O o i , A fou T ol ¥ 9 W S 9 @i
(1) B HR I T2

(2) TR B IS o €

() FRITA §, o w11 9 2|

(4) TR R 3, T R 1 2



Options :

87827085617. 1
87827085618. 2
87827085619. 3
87827085620. 4

Question Number : 21 Question Id : 87827021647 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

[n an arithmetic series having 50 terms, the first and last terms are 3 and 199, respectively, What is
the sum of the series ?

(1) 4950
Q) 3050
B) 5150
@) 4850

H=

Options:

87827085621. 1
87827085622. 2
87827085623. 3

87827085624. 4

Question Number : 21 Question Id : 87827021647 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

50 Vel el T e et H Jom o St 08 A 3 AT 199 € 36 Sl & AW # g
(1) 4950
(2) 5050
(3) 5150
(4) 4850



Options :

87827085621. 1
87827085622. 2
87827085623. 3
87827085624. 4

Question Number : 22 Question Id : 87827021648 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Find the next term (?) in the following letters series AM, GJ, MG, SD, 7, ...
(1) XZ

Options:

87827085625. 1
87827085626. 2
87827085627. 3
87827085628. 4

Question Number : 22 Question Id : 87827021648 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

fe S1ar Sf@el § el Ug (?) o1 vl @ |
AM, G] MG, SD, , ..oovme.

(1) XZ
(2) YC
(3) XA
(4) YA



Options :

87827085625. 1
87827085626. 2
87827085627. 3
87827085628. 4

Question Number : 23 Question Id : 87827021649 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The sum and difference of two numbers are 19 and 7, respectively. What is the sum of their
squares ?

) 190
) 200
) 205
) 210

3

1
2
k
(4
Options:

87827085629. 1
87827085630. 2
87827085631. 3

87827085632. 4

Question Number : 23 Question Id : 87827021649 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T HET AN T SR FH: 19 SR 7 § 1 37H G H AT F R ?
(1) 190
2) 200
3) 205
)

(
(
(4) 210



Options :

87827085629. 1
87827085630. 2
87827085631. 3
87827085632. 4

Question Number : 24 Question Id : 87827021650 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

A certain sum of money doubles in 4 years at a compound rate of interest per annum. The rate of

interest is [Given ; 2/2 = 1414, 2/ = 1.1892)

1) ~149%

Q) ~168%
3) ~189%
(4

S |

) ~12.9%
Options:
87827085633. 1
87827085634. 2
87827085635. 3

87827085636. 4

Question Number : 24 Question Id : 87827021650 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



T S Y TG R AN H RANT AT G ARG
[9&T : 21/2 =1414, 21/4=1.189)]

(1) ~149%

() ~168%
(3) ~189%
[4) ~12.9%
Options:
87827085633. 1
87827085634 2
87827085635. 3
87827085636. 4

Question Number : 25 Question Id : 87827021651 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A train moving at a speed of 63 kmy/hr enters a railway station and crosses the platform in 20 s,
If the length of the train is 100 m, what is the length of the platform ?

1) B0m
2 Mm
3 B0m
4 30m

Options :

87827085637. 1
87827085638. 2
87827085639. 3
87827085640. 4

Question Number : 25 Question Id : 87827021651 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

63 F 7/ T 0 T8 O S T A W o € 4R e 6 208, 5 R
?Ihiamaaﬁaamoﬁaé,wmﬁmﬁmﬂ?
150 Fiet

Options :

87827085637. 1
87827085638. 2
87827085639. 3

87827085640. 4

Question Number : 26 Question Id : 87827021652 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

As per square of opposition which of the following propositions are so related that if one of them
is true, the other must be false and vice-vessa ?

(A)  All mammals are vertebrates,

(B) No mammals are vertebrates.

(C) Some non mammals are not vertebrates.

(D) Some mammals are not vertebrates.

Choose the correct answer from the options given below :
o) (¢ ()Onlv

@) (4and (O)On

(3) (A)and (B) Only

(4) Q) and (D) Only

Options :

87827085641. 1



87827085642. 2
87827085643. 3

87827085644. 4

Question Number : 26 Question Id : 87827021652 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

fet o S 8 9§ 9 o1 50 e e € o 7 4 O 9 € 7 G e
9 T A fefe €7

(A) W we BE) 2 2

(B) S o TR e ) 2 ¢

(C) F8 - W] 74l 20 ¢

(D) 3 WA el 7 4 €

A fou o foredl ¥ 0 W@ S A T A
(1) 9 (&) 3R (D)

) ¥ (4) & (C)

() (4) o (B

() ¥ () D)

Options :

87827085641. 1
87827085642. 2
87827085643. 3
87827085644. 4

Question Number : 27 Question Id : 87827021653 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following statements are logically equivalent ?
(A) No liquids are beverages.

(B) No beverages are liquids.
(C) All non-beverages are non-liquids.
(D) All non-liquids are non-beverages.
Choose the correct answer from the options given below :
(1) (A) and (B) Only
(2) (A)and (C) Only
(3) (B) and (D) Only
(4) (C) and (D) Only
Options:
87827085645. 1
87827085646. 2
87827085647. 3

87827085648. 4

Question Number : 27 Question Id : 87827021653 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



=1 5 9 o9 | FeF aifthe 99 979 € 2
(A) FIE it T T wered T B

(B) hrs i U UeTe TR &I B ¢

(C) Gsft R-U7 yered IR-A B B |

(D) B\eft TR-a 1R-97 uered & B

9 fau Tu fasredl § 9 WEr ST 1 =TT HIfC:
(1) =had (A) TR (B)

(2) HFA (A) 3R (Q)
(3) ad (B) ¥R (D)
(4) FEE (C) R (D)
Options :

87827085645. 1
87827085646. 2
87827085647. 3
87827085648. 4

Question Number : 28 Question Id : 87827021654 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

If the statement “Some rectangles are not squares” is given as true, then according to the square of
opposition which of the following statements can by immediately inferred to be false ?

(1) All rectangles are squares,

(2) Some rectangles are squares,

(3)  No rectangles are squares.
e

4)  Some squares are not rectangles.
Options :
87827085649. 1
87827085650. 2



87827085651. 3

87827085652. 4

Question Number : 28 Question Id : 87827021654 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

7 TR 59 9 T A0 ¢ 9 6 WA IR ¢ foe o o g e 4§ fom A 9
TR A ST fo o el )

(1) 6 o B

) T3 g E

() 4 o o 7 2 2
(4) 8 T 9 TR 2 ¢

Options :

87827085649. 1
87827085650. 2
87827085651. 3

87827085652. 4

Question Number : 29 Question Id : 87827021655 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

"More laws have been added on the books in past five years than ever before, yet the number of
crimes committed during the same period has significantly increased. Therefore, to bring the crime
tate down, we must eliminate the laws”. Which fallacy is committed in the above statement ?

(1) Red herring

2) Straw man

3)  Slippery slope
4)  False cause

(
(
(



Options :

87827085653. 1
87827085654. 2
87827085655. 3

87827085656. 4

Question Number : 29 Question Id : 87827021655 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

"o e o e f e o el e s e e 0 ety i e 6 S e
1 5 I 9 3 19 A A o o e o e | S

Options:

87827085653. 1
87827085654. 2
87827085655. 3

87827085656. 4

Question Number : 30 Question Id : 87827021656 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement (1) : - According to classical Indianschool of logic(Nyiya) the argument “Sound s eternal
because it is audible” is fallacious.

Statement (1) : According to classical Indian school of logic the argument “Sound is eternal
because it is audible” commits the fallacy of irregular middle term where the
middle term is too wide.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct,
2

(2) Both Statement I and Statement IT are incorrect.
(3) Statement 1 is correct but Statement I1 is incorrect
4

4)  Statement I is incorrect but Statement II is correct,

Options:

87827085657. 1
87827085658. 2
87827085659. 3
87827085660. 4

Question Number : 30 Question Id : 87827021656 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



4 ) A foU T
WO 1: ST A P o o o 3 e & i 7 e e 9 e ¢

FURI1: T IR 27 7 & R e IV & i 7% 9 ¢ 4 e 04
Y ¢ 7 99 G o4 oA

TS B % e H, el o0 T o] A 9 R SR A
(1) TR TR T

() 1R HR IS o £

) FMIT §, et Ho 11 00 21

) TR A £, o o 1L 2

Options :

87827085657. 1

87827085658. 2

87827085659. 3

87827085660. 4

Question Number : 31 Question Id : 87827021657 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In comparison to secondary computer storage, primary storage is :
(1) Slower, more expensive per unit of storage and persistent
(2) Faster, less expensive per unit of storage and persistent
(3) Faster more expensive per unit of storage and not persistent
(4) Faster, less expensive per unit of storage and not persistent
Options :

87827085661. 1

87827085662. 2

87827085663. 3

87827085664. 4



Question Number : 31 Question Id : 87827021657 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
fgdiorer HogeX JYeRU &1 qor §, Wi ser
(1) e, wfg e dero sifier weien ik gad € S
(2) i, 9fd gfe sieru F9 weien SR gaqd g §|
(3) g, fd e sierw sifusw wiien IR gad =& e g1
(4) =, 9fd gfe vero w9 Gt IR gad & e ¢ |
Options :
87827085661. 1
87827085662. 2

87827085663. 3
87827085664. 4

Question Number : 32 Question Id : 87827021658 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A security system records video footage. One minute of video requires 180 MegaBytes of storage.
The recording system can store several hours of video footage. How much storage would be needed
for 2 hours of video footage ? (1k =1024) :

(1) 192 Giga Bytes
(2) 203 Giga Bytes
(3) 211 Giga Bytes
(4) 224 Giga Bytes
Options:

87827085665. 1
87827085666. 2

87827085667. 3



87827085668. 4

Question Number : 32 Question Id : 87827021658 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T U T el ey () e e €1 O e ol f T st 190 e
SR it 1 e o o W2 3 o o s o T §12.98 % e 3 faw
fo e T A SR 27 (1k=1024)

1) 192 TeEe
) 203 ek
) 211 TR
) 204 TIREE

Options :

a2

(
2
g
(4

87827085665. 1
87827085666. 2
87827085667. 3

87827085668. 4

Question Number : 33 Question Id : 87827021659 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
If (P)g represents the number P in base - 8, then (144)s + (175)q =

(1) (225)4
(2) (341)g
(3)  (441)
(4) (314)q
Options :

87827085669. 1



87827085670. 2
87827085671. 3

87827085672. 4

Question Number : 33 Question Id : 87827021659 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

g (P)g 99 - 8 H P =l T €, dI(144)g + (175)g =

(1) (225)g
(2) (341)4
(3) (441)g
(4) (314)g
Options :

87827085669. 1
87827085670. 2
87827085671. 3
87827085672. 4

Question Number : 34 Question Id : 87827021660 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :
Statement (1) : IPv6 address in computer networking is 4 times larger than an [Pv4 address

Statement (I1) : The IP address gives the location of a device on the Internet, whereas the MAC
address identifies the device connected to the Internet

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct,
2
3
(4

) Both Statement I and Statement II are incorrect.
) Statement I is correct but Statement 11 15 incorrect.
)

Statement I is incorrect but Statement II is correct,

Options:

87827085673. 1
87827085674. 2
87827085675. 3
87827085676. 4

Question Number : 34 Question Id : 87827021660 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

g A ferm E:

WO (1) O Yo [Pvd T 1 T [Pt TS 4 T 991 2 ¢

®OA (1) [P UG 20 W fo 97 ) afiefs Ve 0 € 0% MAC U TR 8§ e A
Rl 4 £

TS 9 35 e A, A for T fovedt 2 W A

(1) B HR I T2

(2) TR B IS o €

() FRITA §, o w11 9 2|

(4) TR R 3, T R 1 2



Options :

87827085673. 1
87827085674. 2
87827085675. 3

87827085676. 4

Question Number : 35 Question Id : 87827021661 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
Match List - T with List - IL

List - I List - II
(Graphical User Interface Term) (Description)
(A) Window () Represents a folder or a progtam - can be seen
within a window or free standing on screen
(B) Icon () Contains lists of options for a certain program
(C) Menu () Used toselect menu options/icons/ close/open
windows
(D) Pointer (IV) Represents an area on the screen that displays

information for a specific program
Choose the correct answer from the options given below :

(1) (AR, (BMD (CH{ID, DHIV)
) (BHIV), (CA

(2) (Al ) (DA
(3) (ARIV), (BHD) (CHID), (DM
(4 (AMT), (B)-{), (CHLV), (DHI)
Options:

87827085677. 1
87827085678. 2
87827085679. 3

87827085680. 4



Question Number : 35 Question Id : 87827021661 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Tl § 11 91 o aifee;

Tl Tl
(T3 TeleRT SIS ) (o)

1) fig () T 4o T 51 291 € - ffg) o e afee o
R 9 8 9 9 ¢

B & (1) 39 forh T &g e 1 et €

0 W (1) 38 T ¥, frey e el e el o 7
o foe fon s &1

D) &R (IV) B T & e ot & o o o feo
) & &

At few T foedl o 9 T I 9 A

(1) (AW, (B0, (CHID, (DHIV

(2) (AKD), (B-V), (CHI), (DA

(3) (ANIV), (B, (CHI). (DA

(4 (AKD, B}0, (O4IV), (DA

Options :

87827085677. 1
87827085678. 2
87827085679. 3

87827085680. 4

Question Number : 36 Question Id : 87827021662 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which of the following are true about Producer Gas ?
A) Ttis the result of conversion of solid biomass into gaseous fuels.

(
(B) Itis done at lower temperature.

(C) It can be used as fuel in internal combustion engines.

(D) Itis produced in the complete absence of oxygen.

(E) Hydrogen and methane present in Producer Gas determine its heating value.
Choose the correct answer from the options given below :

(1) (4), (B)and (C) Only

(2)  (B)and (D) Only
(3) (C), (D)and (E) Only
(4) (), (C)and (E) Only
Options:

87827085681. 1
87827085682. 2
87827085683. 3

87827085684. 4

Question Number : 36 Question Id : 87827021662 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



e T & A | Fretfeted § & PH-9 98§

(A) 7 3 99 Tefa ¢ et fom & Wi 7 ¥iowd g

(B) @ UM R ol ST €

(C) 3w WA STk Cg 3919 W 38 o %Y ¥ fohel & el € |

(D) 8 aieier o forl e foen 1l &1

(F) e g ¥ suftery/fed areion oiR o e o fruifid &% €
A fou e foredl H 9 W& I T FIC

{ (A), (B) & (C)
2

3
(

)
)
)
4)
Options:

87827085681. 1
87827085682. 2
87827085683. 3

87827085684. 4

Question Number : 37 Question Id : 87827021663 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The convention on biological diversity is dedicated to promote sustainable development conceived
as a practical tool for translating the principles of :

(1) Agenda 20
(2) Agenda2]
(3) Agenda 22
(4) Agenda 23

Options :

87827085685. 1



87827085686. 2
87827085687. 3

87827085688. 4

Question Number : 37 Question Id : 87827021663 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

e fafaem e fe fagi ) wrfen < & fod oo / fTes e & %9 4 e
T foe 1 9 ¢  felt Wi 7

()

) g
() A 2
) B
Options :

87827085685. 1
87827085686. 2
87827085687. 3

87827085688. 4

Question Number : 38 Question Id : 87827021664 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



What is the correct sequence of steps followed from initial to last during water treatment process ?
(A) Coagulation

(B) Filtration

(C) Screening

(D) Sedimentation

Choose the correct answer from the options given below :

(1) 0)©) B) (4)

2) (D) (), (&) ()
3 (€. 0) ) 6)
(4) (O O) (B), (&)
Options:

87827085689. 1
87827085690. 2
87827085691. 3

87827085692. 4

Question Number : 38 Question Id : 87827021664 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T S Y o U SR T et e o e (e ) afem) o o s

(A) e

B) e

(€)

D)

A fe 0 feeredl o WY O A T @i
(1) () (©) (B) (A)

2 (D) (©) )@

3) (© ) (A) B

4 (© ) B) (A)



Options :

87827085689. 1
87827085690. 2
87827085691. 3
87827085692. 4

Question Number : 39 Question Id : 87827021665 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements : one is labelled as Assertion (A) and the other is labelled as
Reason (R).

Assertion (A) : DDT bioaccumlates in tissues of many species including humans.
Reason (R) :  DDT is relatively insoluble in water but readily soluble in fats and ofs.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both (A) and (R) are correct and (R) s the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A)
(3) (A) s correct but (R) is not correct
4

4)  (A)is not correct but (R) is correct

Options:

87827085693. 1
87827085694. 2
87827085695. 3

87827085696. 4

Question Number : 39 Question Id : 87827021665 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827085693. 1

87827085694. 2

87827085695. 3

87827085696. 4

Question Number : 40 Question Id : 87827021666 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

Given below are two statements ;

Statement (1) : Millennium Development Goals (MDGs) were mainly targeted at developing or
poor countries.

Statement (I1) : Sustainable Development Gaols (SDGs) are targeted at all countries whether
developed, developing or poor.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement IT are incorrect,
(3) Statement I is correct but Statement I1 is incorrect.
(4)  Statement I is incorrect but Statement I1 is correct.

Options :



87827085697. 1
87827085698. 2
87827085699. 3

87827085700. 4

Question Number : 40 Question Id : 87827021666 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827085697. 1

87827085698. 2

87827085699. 3

87827085700. 4

Question Number : 41 Question Id : 87827021667 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which of the following was recommended by the Hunter Commission ?

(1)  Abolition of higher education in India

(2) Restricting women's entry into colleges

(3) Participation of private enterprise in higher education

(4) Encouraging establishment of more and more public universities in rural India
Options:

87827085701. 1

87827085702. 2

87827085703. 3

87827085704. 4

Question Number : 41 Question Id : 87827021667 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827085701. 1

87827085702. 2

87827085703. 3
87827085704. 4

Question Number : 42 Question Id : 87827021668 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The University of Punjab was established at lahore in 1882 to reduce the burden of the university
of :

) Bombay
) Calcutta
) Madras
) Himachal Pradesh

1
2
3
(4
Options:

87827085705. 1
87827085706. 2
87827085707. 3

87827085708. 4

Question Number : 42 Question Id : 87827021668 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

1233

Options :

87827085705. 1
87827085706. 2
87827085707. 3
87827085708. 4

Question Number : 43 Question Id : 87827021669 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0
Which of the following steps were taken by the university grants commission during the second
five year plan?
[ntroduction of three-year degree course
B) Improvement in libraries and laboratories

D) No new departments were approved in the universities

(

(

(C) Increase in the salaries of universiry teachers
(

E

—

Hindi was made the optional medium of instruction besides local languages in all Indian
universities
Choose the correct answer from the options given below :

(1) (&), (B) and (C) Only
(2)  (B), (C) and (D) Only
) (C), (D) and (E) Only
(4) (A), (D) and (E) Only
Options :

87827085709. 1
87827085710. 2
87827085711. 3
87827085712. 4

Question Number : 43 Question Id : 87827021669 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827085709. 1

87827085710. 2

87827085711. 3

87827085712. 4

Question Number : 44 Question Id : 87827021670 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following research institutes were established between the first and third five year
plans ?

(A) Indian Institute of Science

(B) Saha Institute of Nuclear physics

(C) Lok Bharati

(D) Gandhi Gram Rural Institute

(E) Raman Research Institute

Choose the correct answer from the options given below :
(1) (), (B)and (C) Only

(2) (A), (D) and (E) Only

(3) (B),(C) and {£) Only

(4) (8)(C)and (D) Ony

Options :

87827085713. 1
87827085714. 2
87827085715.3

87827085716. 4

Question Number : 44 Question Id : 87827021670 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

87827085713. 1
87827085714. 2
87827085715.3

87827085716. 4

Question Number : 45 Question Id : 87827021671 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement (1) : The Nalanda University of ancient India attracted students from various parts of
Asia,

Statement (II) : The Nalanda University was overshadowed by the universities in Europe and
Arabia immediately after its establishment.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct
2

2
(3) Statement I is correct but Statement I1 is incorrect.
4

Both Statement [ and Statement II are incorrect.

Statement [ s incorrect but Statement II is correct.
Options:

87827085717. 1

87827085718. 2

87827085719. 3

87827085720. 4

Question Number : 45 Question Id : 87827021671 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827085717. 1
87827085718. 2
87827085719. 3

87827085720. 4

Sub-Section Number : 3
Sub-Section Id : 878270961
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Id : 87827021672 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (46 to 50)
Question Label : Comprehension

Read the following passage carefully and answer the questions :

The most important part of a person’s life is his childhood. The learning our young citizens receive
at home, in school and in society between the ages of five and sixteen will shape them for the rest
of their Lives. during this phase, they need a good value based education to become enlightened
human beings.

Parents and teachers need to have an integrated mission : education with a good value system at
home and in school. Education is fundamental to building the nation of our dreams. All our
aspirations as a society are tied to the capabilities of our youngsters, who form such a large part of
our population.

A child's individuality and creativity need to be given due importance in our education. The
curriculum needs to be mnovative and the examination system overhauled so that it recognizes
and evaluates creativity and new thinking rather than the memorization of facts. Schools must
move away from being centres of education alone, instead becoming centres of knowledge and
skill development.

Sub questions

Question Number : 46 Question Id : 87827021673 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A child becomes an enlightened human being as a result of the value based education received ;
(A) At home only

(B) Inschool only

(C) At home, in school and in society
(D) Insociety only

(E)  Between the ages of five and sixteen

Choose the correct answer from the options given below :
(1) (4) &(E) Only

2 WDk ()Only
) ()& (E)Onl

4 (A& ()OHIY
Options :

87827085721.1
87827085722. 2
87827085723. 3

87827085724. 4

Question Number : 47 Question Id : 87827021674 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

What is essential for building the nation of our dreams ?
(1) More schools
Value based education

—
L3 D
e

(
(

Options:

) Democracy
) Rapid Urbanization

=

87827085725. 1

87827085726. 2



87827085727. 3

87827085728. 4

Question Number : 48 Question Id : 87827021675 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

Who need to have an integrated mission : education with a good value system at home and in
school ?

(1) Politicians

(2) Philanthropists

(3) Parents and Teachers
(4)  Businessmen
Options:
87827085729. 1
87827085730. 2
87827085731. 3

87827085732. 4

Question Number : 49 Question Id : 87827021676 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



A good examination system should :

(A) Recognize a child’s creativity

(B) Recognize a childs individuality

(C) Encourage rote learning

(D) Encourage new thinking

Choose the correct answer from the options given below :
(1) (A), (B) & (D) Only

(2)  (B) & (C) Only

(3) (A), (B) & (C) Only
(4) (O & (D) Only
Options:

87827085733. 1
87827085734. 2
87827085735. 3
87827085736. 4

Question Number : 50 Question Id : 87827021677 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

Given below are two statements :
Statement [:  Schools should only be centres of education.
Statement IT:  Youngsters form a minimal part of our population.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect,
(3) Statement s correct but Statement I1 is incorrect.
(4)  Statement s incorrect but Statement 11 is correct
Options :

87827085737. 1



87827085738. 2
87827085739. 3

87827085740. 4

Question Id : 87827021672 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (46 to 50)

Question Label : Comprehension
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Sub questions

Question Number : 46 Question Id : 87827021673 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
87827085721. 1
87827085722. 2

87827085723. 3

87827085724. 4

Question Number : 47 Question Id : 87827021674 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(2) HeasTHRd foret

(3) <Ihad

(4) ToIRd TR
Options :

87827085725. 1



87827085726. 2
87827085727. 3

87827085728. 4

Question Number : 48 Question Id : 87827021675 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827085729. 1
87827085730. 2
87827085731.3

87827085732. 4

Question Number : 49 Question Id : 87827021676 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827085733. 1
87827085734. 2
87827085735. 3
87827085736. 4

Question Number : 50 Question Id : 87827021677 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827085737. 1

87827085738. 2

87827085739. 3
87827085740. 4

Hindu Studies

Section Id : 878270687
Section Number : 2

Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 92
Number of Questions to be attempted : 92

Section Marks : 200
Enable Mark as Answered Mark for Review and

Clear Response: Yes
Maximum Instruction Time : 0
Sub-Section Number : 1

Sub-Section Id : 878270962



Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 51 Question Id : 87827021678 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

As per Advaita Vedanta, which pramana is the most important to gain knowledge of the self ?
(1) Anupalabdhi

(2) Arthapatti
(3) Anumana
(4) Shabda
Options:
87827085741. 1
87827085742. 2
87827085743. 3

87827085744. 4

Question Number : 51 Question Id : 87827021678 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(1) sIguefe

(2) FAffd
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Options :

87827085741. 1

87827085742. 2



87827085743. 3

87827085744. 4

Question Number : 52 Question Id : 87827021679 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

“ Atharva-shirsha texts” describe
(1) Yakshas

(2) Kinnaras

(3) Devatas

(4) Pishachas
Options :

87827085745. 1
87827085746. 2
87827085747. 3

87827085748. 4

Question Number : 52 Question Id : 87827021679 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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(1) F&i =l

(2) f&E=Ri

(3) GedIsl

(4) fTowm=i =1
Options :

87827085745. 1

87827085746. 2



87827085747. 3

87827085748. 4

Question Number : 53 Question Id : 87827021680 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

[tihasa and Puranas should be used fo the essence of the Vedas.
(1) Strengthen and expand

) Change
3) Destroy

) Advance in the light of Western thought

Options :

87827085749. 1
87827085750. 2
87827085751. 3

87827085752. 4

Question Number : 53 Question Id : 87827021680 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827085749. 1

87827085750. 2



87827085751. 3
87827085752. 4

Question Number : 54 Question Id : 87827021681 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

As per Samkhya Darshana, ‘Suhrit-prapti” belongs to which of the following types of Pratyaya-
Sarga ?

(1) Viparyaya

Ashakti

Options :

87827085753. 1
87827085754. 2
87827085755. 3

87827085756. 4

Question Number : 54 Question Id : 87827021681 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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(1) feagdy
(2) el
(3) T
(4) Tafs
Options :

87827085753. 1



87827085754. 2
87827085755. 3

87827085756. 4

Question Number : 55 Question Id : 87827021682 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

Which of the following does not feature as one of the 10 facets of Dharma as per Manusmriti ?
1) Dama

)
(2) Ahimsa

(3)  Akrodha (Non-anger)
(4)  Vidya (Knowledge)
Options:
87827085757. 1
87827085758. 2
87827085759. 3

87827085760. 4

Question Number : 55 Question Id : 87827021682 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827085757. 1



87827085758. 2
87827085759. 3

87827085760. 4

Question Number : 56 Question Id : 87827021683 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

As per Bhagavadgita a man is wise if he :

(1) Sees akarma in karma and karma in akarma.

2) Is always attached to karma phala.

(3) Becomes a yogi and relieves himself of all karmas.
(4) Transcends karma and akarma.

Options :
87827085761. 1
87827085762. 2

87827085763. 3

87827085764. 4

Question Number : 56 Question Id : 87827021683 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827085761. 1



87827085762. 2
87827085763. 3

87827085764. 4

Question Number : 57 Question Id : 87827021684 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

Bauddha Darshana considers consciousness to be
(1) Unchanging

(2) Momentary
(3) Momentary and unchanging
(4) Eternal

Options :

87827085765. 1
87827085766. 2
87827085767. 3
87827085768. 4

Question Number : 57 Question Id : 87827021684 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827085765. 1



87827085766. 2
87827085767. 3

87827085768. 4

Question Number : 58 Question Id : 87827021685 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A ‘jivanamukta" person lives to ensure the dissolution of which type of karma ?
) Kriyamana
) Sanchita
3) Prarabdha
) Naimittika
Options :
87827085769. 1
87827085770. 2
87827085771. 3
87827085772. 4

Question Number : 58 Question Id : 87827021685 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

e staeel § TiHe o Wl 1 T L o o Siifad @ g ?

(1) Torgmm
(2) wfed
(3) UR®
(4) AfAfaen
Options :

87827085769. 1



87827085770. 2
87827085771. 3

87827085772. 4

Question Number : 59 Question Id : 87827021686 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following is not a karmendriya ?

(1) Hands
(2) Feet
(3) Anus
(4) Nose
Options :

87827085773. 1
87827085774. 2
87827085775. 3
87827085776. 4

Question Number : 59 Question Id : 87827021686 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

frafafea § 9 s wdfea 78 22

T

Options:

87827085773. 1



87827085774. 2
87827085775. 3

87827085776. 4

Question Number : 60 Question Id : 87827021687 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

"Ashantasya kutah sukham’. This sentence was spoken by n
1) Arjuna, Bhagavadgita

) Srikrishna, Bhagavadgita
3)  Srikrishna, Shrimadbhagavata
)

(
2
(
(4

Manu, Manusmriti

Options :

87827085777. 1
87827085778. 2
87827085779. 3

87827085780. 4

Question Number : 60 Question Id : 87827021687 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
‘eI Fd: gEH fRE T H § Ud fReR FRr B ?
(1) HrARyFEId, ST
(2)  HAETTEIMT, A
(3)  HATHRHTTE, HFE
(4) wIHM, 73

Options:

87827085777.1



87827085778. 2
87827085779. 3

87827085780. 4

Question Number : 61 Question Id : 87827021688 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following is principal focus in Navya-Nyaya ?
(I) Pramana

(2) Prameya

(3) Pramata

(4) Iswara
Options :

87827085781. 1
87827085782. 2
87827085783. 3

87827085784. 4

Question Number : 61 Question Id : 87827021688 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

I | foRgent qurar g 2
(1) YT i
) 9HI i

(2

(3)  YHTT i
(4) TYR I
Options:

87827085781. 1



87827085782. 2
87827085783. 3

87827085784. 4

Question Number : 62 Question Id : 87827021689 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

In yoga-darshana, the process of knowledge is based on :
(I) Sambandha (Relation)

(2) Vritt (Modification)

(3) Samagri (Entire complex)

(4) Vyapti (Universal concomittance)

Options :

87827085785. 1

87827085786. 2

87827085787. 3

87827085788. 4

Question Number : 62 Question Id : 87827021689 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

e H Fgfshan snenfia
(1) T=Y9 W

(2) AW

(3) | W

(4) =i W

Options :

87827085785. 1



87827085786. 2
87827085787. 3

87827085788. 4

Question Number : 63 Question Id : 87827021690 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

Which of the following does not require an object ?
(1) Knowledge (Jnana)

)  Desire (Ichchha)

(3) Effort (Prayatna)

(4) Pot (Ghata)

—
= L2

Options :

87827085789. 1
87827085790. 2
87827085791.3
87827085792. 4

Question Number : 63 Question Id : 87827021690 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

gfaeae ugid S 78 8 2
(1) ™
(2) T
(3) "AS
(4) ¥
Options :

87827085789. 1



87827085790. 2
87827085791. 3

87827085792. 4

Question Number : 64 Question Id : 87827021691 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

Which of the following is accepted in Prabhakara Mimamsa ?
(1) Only Lakshana

(2) Only Abhidha

(3) Abhidha and Lakshana

(4) Abhidha, Lakshana and Vyanjana

Options :

87827085793. 1
87827085794. 2
87827085795. 3
87827085796. 4

Question Number : 64 Question Id : 87827021691 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
FIRTHIATET B TR &l STt 8 2
(1) <had &M
(2) had sifyHn
(3) AT R Taqon
(4) AT, TAgoT SR oSl

Options :

87827085793. 1



87827085794. 2
87827085795. 3

87827085796. 4

Question Number : 65 Question Id : 87827021692 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

As per Nyaya darshana, the validity of knowledge of a pot is founded on
(1) External object

) Atma

3) Jivatma

) Buddhi
Options :
87827085797. 1
87827085798. 2
87827085799. 3

87827085800. 4

Question Number : 65 Question Id : 87827021692 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

SEEYE H S i AT 1| §
(1) wTeF a9 W

(2) 3TEHT |

(3) SiETH T

(4) T
Options :

87827085797. 1



87827085798. 2
87827085799. 3

87827085800. 4

Question Number : 66 Question Id : 87827021693 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The life of any material object follows which of the following sequence ?
(1) Birth, existence, growth, deformity, weakening, destruction
)  Birth, existence, deformity, growth, weakening, destruction
) Existence, birth, growth, weakening, deformity, destruction
) Birth, growth, existence, weakening, deformity, destruction

Options :
87827085801. 1
87827085802. 2

87827085803. 3
87827085804. 4

Question Number : 66 Question Id : 87827021693 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
ygHEfasR fome 0 H 3 8 ?
(1) <, &, gfg, fauftom, &=, A
(2) S, Afe, faufiomy, gfg, &=, =@
(3) o, S, gfg, &, fagfom, Fm
(4) <, 9fg, i, &, faaftom, =
Options :

87827085801. 1



87827085802. 2
87827085803. 3

87827085804. 4

Question Number : 67 Question Id : 87827021694 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

In the term ‘Pravrittimulaka Dharma’, pravritti does not imply

(1) Continuous advancement
(2) Dynamism
(3) Non-involvement
(4) Involvement
Options :

87827085805. 1
87827085806. 2
87827085807. 3
87827085808. 4

Question Number : 67 Question Id : 87827021694 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

yafagers od § ygfa 1 o1ef T €
(1) 9= A

(2) ToRamiera

SEEIERISE!

(4) TafrasE
Options :

87827085805. 1



87827085806. 2
87827085807. 3

87827085808. 4

Question Number : 68 Question Id : 87827021695 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

“Tarkasangraha” text belongs to :
(1) Nyaya - Vaisheshika

(2) Only Nyaya
(3) Omnly Vaisheshika
(4) Mimamsa

Options :

878270858009. 1
87827085810. 2
87827085811. 3
87827085812. 4

Question Number : 68 Question Id : 87827021695 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

ThEUT T ¢ :

(1) =rE-dufees 1

(2) haA =

(3) had SRIHeR hl

(4) HHE
Options :

87827085809. 1



87827085810. 2
87827085811. 3

87827085812. 4

Question Number : 69 Question Id : 87827021696 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following occur in a Vritti ?
(1) Example, counter-examples, and derivation from source.
2) Providing other meaning,
) Stated, unstated and mis-stated.
)  Establishing siddhanta.

a2

(
(
(4
Options :

87827085813. 1
87827085814. 2
87827085815. 3
87827085816. 4

Question Number : 69 Question Id : 87827021696 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
gfa A B g
(1) TRV, TR LT TR
(2) T = AHHE
(3) 3, STH SR GEH]
(4) oG &1 w9
Options :

87827085813. 1



87827085814. 2
87827085815. 3

87827085816. 4

Question Number : 70 Question Id : 87827021697 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

The method of Adhikarana should not include
(1) Sanshaya.

(2) Poorva-paksha.
(3) Uttara-paksha.
(4) Tika.

Options :

87827085817. 1
87827085818. 2
87827085819. 3
87827085820. 4

Question Number : 70 Question Id : 87827021697 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

sAferepTor ugfa o e =21 g =nfeu 2
(1) 9™

(2) g

(3) SEIA

(4) A

Options :

87827085817. 1



87827085818. 2
87827085819. 3

87827085820. 4

Question Number : 71 Question Id : 87827021698 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Identify the correct sequence in which Shri Ram met Rishis during his forest dwelling ?
(1) Bharadvaja, Atri, Sharbhanga, Agastya

(2)  Atri, Sutikshna, Sharbhanga, Bharadvaja

(3) Valmiki, Bharadvaja, Sutikshna, Agastya

(4) Bharadvaja, Atri, Sutikshna, Sharbhanga

Options :

87827085821. 1
87827085822. 2
87827085823. 3
87827085824. 4

Question Number : 71 Question Id : 87827021698 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A H FIHE 9 oo are Bl o 98 wH e ?
(1) g, A, NG, A

(2) AfH, gdlen, JRYg, 9GS

(3) dTeHifR, WRES, YAl ST

(4) WG, 33, YAlew, IRAF
Options :

87827085821. 1



87827085822. 2
87827085823. 3

87827085824. 4

Question Number : 72 Question Id : 87827021699 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

The meaning of the word “Valmiki” is :
(1) The head of Valmika.

)  Covered by anthill

(3) Best among the great poets.

(4) Best among the tribals.

—
= 2 I

Options :

87827085825. 1
87827085826. 2
87827085827. 3
87827085828. 4

Question Number : 72 Question Id : 87827021699 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

‘gredifes’ 9sg o 319 §

(1) STeHTehl 1 HiEa

(2) <R ! SH H e

(3) HERfEl H 9%

(4) Afeafa= § g%
Options :

87827085825. 1



87827085826. 2
87827085827. 3

87827085828. 4

Question Number : 73 Question Id : 87827021700 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

‘Mahaviracharita' is :

(1) A play written by Bhavabhuti which describes the story from the killing of Ravana to the
abandonment of Sita.

(2) A play written by Bhavabhuti which describes the story before the abondonment of Sita.
(3)  An epic written by Bhavabhuti which describes the life of Bhagawana Mahavira.

(4) A play written by Kalidasa which describes the birth of Rama to the killing of Ravana
Options :

87827085829. 1

87827085830. 2

87827085831. 3

87827085832 4

Question Number : 73 Question Id : 87827021700 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

TR :

(1) sy forfad T2 & fomm Tavmay § SR 7 &1 41 F 90 ¢ |
(2) vayfd ferfed qvasen & form diaraftem @ @ i o 1 9 €|
(3) v foxfad wewmea & Fomm sy weral 1 =i afvid 2

(4) e forfad ek & Fores e 9 ey & 9 2 |

Options:



87827085829. 1
87827085830. 2
87827085831. 3

87827085832. 4

Question Number : 74 Question Id : 87827021701 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Rishi Vashishtha and Vishwamitra were

(1) Guru of weaponry and shashtra of Raghuvansha respectively.

(2) Kulaguru of Raghuvansha and guru of Shastras, respectively.

(3) Is one of the Saptarshis and was from Gadhi dynasty, respectively.

(4)  Was the guru of Trishanku, and was the Kulguru of Raghuvansha, respectively.

Options :

87827085833. 1
87827085834. 2
87827085835. 3

87827085836. 4

Question Number : 74 Question Id : 87827021701 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Y afors IR favarfaa woen:

(1) T o I IR 9 o 7% 9 |

(2) THEY % FHorE 9 T I 6 T A |
(3) @t H | UH o qn MY Sk A |

(4) ToI% & % & T AN & FAT A

Options :



87827085833. 1
87827085834. 2
87827085835. 3

87827085836. 4

Question Number : 75 Question Id : 87827021702 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following is not a characteristic of subaltern studies ?

(1) It focusses on indigenous and marginalised sections and their voices.
(2) It mainly includes narratives of colonised peoples of Africa and Asia.
(3) Focus on cultural unity and traditional national ethos.

(4) Reconsideration of the idea of culture.

Options :

87827085837. 1

87827085838. 2

87827085839. 3

87827085840. 4

Question Number : 75 Question Id : 87827021702 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

a1 ST i oo P T € 2

(1) 7 @ s 3f ol oiR STent TaTstl T ahfeed ©

(2) T9H T@R: AR IR TR & i T & ST Wb &
(3) T WEHTTH Tl 3R URFIRE UL elichraR T ohid ¢ |

(4) HEd % HYE TR

Options :



87827085837. 1
87827085838. 2
87827085839. 3

87827085840. 4

Question Number : 76 Question Id : 87827021703 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

As per the Mahabharata, Aniruddha was an avatara of
(1) Chandra

(2) Kamadeva

(3) Jayanta

(4) Varuna
Options :

87827085841. 1
87827085842. 2
87827085843. 3

87827085844. 4

Question Number : 76 Question Id : 87827021703 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

HREIHRA o 3TUR 31f7%g fHEd sEar 92
(1) ==

(2) MR

(3) SE=

(4) =W

Options :



87827085841. 1
87827085842. 2
87827085843. 3

87827085844. 4

Question Number : 77 Question Id : 87827021704 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In his previous life, Bhishma was a

(1) Aditya

(2) Rudra

(3) Vasu

(4) Ashvini-kumara
Options :

87827085845. 1
87827085846. 2
87827085847. 3

87827085848. 4

Question Number : 77 Question Id : 87827021704 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

et H iy 1 9 ?
(1) e

(2) ¥%

(3) 99

(4) SAYETHER

Options :



87827085845. 1
87827085846. 2
87827085847. 3

87827085848. 4

Question Number : 78 Question Id : 87827021705 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Aniruddha was the grandson of
(1) Shrikrishna

(2)  Yudhisthira

(3) Balarama

(4) Jarasandha
Options :

87827085849. 1
87827085850. 2
87827085851. 3

87827085852. 4

Question Number : 78 Question Id : 87827021705 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Afeg fras O 92

(1) g

(2) Ffufet
(3) EH

(4) SUEHY

Options :



87827085849. 1
87827085850. 2
87827085851. 3

87827085852. 4

Question Number : 79 Question Id : 87827021706 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The foster parents of Shrikrishna were
(1) Devaki and Vasudeva.
) Yashoda and Nanda.
(3) Devaki and Nanda.
(4) Yashoda and Vasudeva.

—
= 3 D

Options :

87827085853. 1
87827085854. 2
87827085855. 3

87827085856. 4

Question Number : 79 Question Id : 87827021706 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
AU o AT A dred JId-T9a1 A & ?
(1) <ol 3R oY
(2) I SR T
(3) TEeh! AR 7]
(4) IR SR Aged

Options :



87827085853. 1
87827085854. 2
87827085855. 3

87827085856. 4

Question Number : 80 Question Id : 87827021707 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following is pronounced from the throat (%73)?
(1) &, §, Anusvara
(2) b, & Visarga
(3) &, Visarga, Anusvara
(4) &, d, Visarga
Options :
87827085857. 1
87827085858. 2
87827085859. 3

87827085860. 4

Question Number : 80 Question Id : 87827021707 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

frefafed 5 9 fohe ‘&2’ | =R a1 ¢
(1) <%, &, IFERI

(2) % T fawi

(3) g fau, sq=r

(4) &, 9, fawi



Options :

87827085857. 1
87827085858. 2
87827085859. 3
87827085860. 4

Question Number : 81 Question Id : 87827021708 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
W

o

nich of the following is the declension of vaari-pratipadika in prathama vibhakti ?

(1) Vari Vareeni Varinee
(2) Varee Varinee Vareeni
(3) Vari Varinee Vareeni
(4) Vari Varinee Vareenee
Options:

87827085861. 1
87827085862. 2
87827085863. 3

87827085864. 4

Question Number : 81 Question Id : 87827021708 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

“aft’ wifqufess <1 werHn favfe § €9 e

(1) =it arifor arfioft
(2) R ST S
(3) @R Sl s
(4) =R =l ardof



Options :

87827085861. 1
87827085862. 2
87827085863. 3

87827085864. 4

Question Number : 82 Question Id : 87827021709 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following category of words are declined in three genders ?
(1) Words terminating with &
2

)
3) Words terminating with consonants.
4)  Pronouns.

Words terminating with halanta.

(
(
(

Options:

87827085865. 1
87827085866. 2
87827085867. 3

87827085868. 4

Question Number : 82 Question Id : 87827021709 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
o wrfaufeeni o diF1 forgl H vea®&d a9d @ 2
(1) AR
(2) =ad
(3) H=eldId
(4) e




Options :

87827085865. 1
87827085866. 2
87827085867. 3

87827085868. 4

Question Number : 83 Question Id : 87827021710 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following are parasmaipadi roots ?
(1) M, ¥, 9, g

(2) % T, FY, AE

(3) @, T, T, T

(4) 99 ST 1, 4

Options:

87827085869. 1
87827085870. 2
87827085871. 3

87827085872. 4

Question Number : 83 Question Id : 87827021710 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



(1) M, ¥, 9, g
2) dE, Y, HF, WE

(
(3) <%, T, 'Y, 99
(4) 9, ¥, W, =Y

Options:

87827085869. 1
87827085870. 2
87827085871.3

87827085872. 4

Question Number : 84 Question Id : 87827021711 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

The examples of anyapadapradhana and ubhayapadapradhana compounds, respectively are :

(1) Karmadharaya, bahuvrihi

Bahuvrihi, avyayibhava

2

(3) Bahuvrihi, dvandva
(4)  Dvandva, tatpurusha
Options :
87827085873. 1
87827085874. 2
87827085875. 3

87827085876. 4

Question Number : 84 Question Id : 87827021711 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



HAYSYH AR IYITSTHHE 999 T

(1) HHEE, Fgaife

(2) wgdlife, HAFAE
(3) e, 55

(4) &5 dqeH
Options:

87827085873. 1
87827085874. 2
87827085875. 3
87827085876. 4

Question Number : 85 Question Id : 87827021712 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which king wrote a famous Sanskrit drama ?
(1) Bhojaraja

2) Harshavardhana

(3) Somadeva Suri

(4) Chandabaradai

Options :

87827085877. 1
87827085878. 2
87827085879. 3
87827085880. 4

Question Number : 85 Question Id : 87827021712 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



forg T & g0 fafaa Sopa Aeasfa gfag &2

(1) SIS

(2) THAYA

(3) wmRE R

(4) T<AETE
Options :

87827085877. 1
87827085878. 2
87827085879. 3
87827085880. 4

Question Number : 86 Question Id : 87827021713 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following Bhakti Saints are associated with Kashi ?
(1) Tulasidasa, Ravidasa, [naneshwara

Ravidasa, Kabirdasa, Namadeva

Ravidasa, Kabirdasa, Tulasidas

Tukarama, Mirabai, Surdasa

— —
2 2
e

4

_—
e

Options :

87827085881. 1
87827085882. 2
87827085883. 3
87827085884. 4

Question Number : 86 Question Id : 87827021713 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



T 9 Fraf-4d vieaare™ & |9 ¢
(1) godeE, JaeE, TR
(2) Yfoem, weE™, e
(3) fae, HaReE, JadieH
(4) THRH, HITEATE, YL
Options:
87827085881. 1
87827085882. 2
87827085883. 3

87827085884. 4

Question Number : 87 Question Id : 87827021714 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Who from of the following wrote a historical Mahakavya ?
(1) Ashwaghosha

(2) Kalhana

(3) Bhasa

(4) Hala
Options :

87827085885. 1
87827085886. 2
87827085887. 3
87827085888. 4

Question Number : 87 Question Id : 87827021714 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



(1) 3TIE

(2) R

(3) HH

(4) =1
Options :

87827085885. 1
87827085886. 2
87827085887. 3
87827085888. 4

Question Number : 88 Question Id : 87827021715 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

As per Kavyashastra, how many categories of bhavas exist ?
(1) 4

2) 5
(3) 6
(4) 3

Options :

87827085889. 1
87827085890. 2
87827085891. 3
87827085892. 4

Question Number : 88 Question Id : 87827021715 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



HIAIS H & sl el

() 4
(2) 5
(3) 6
(4) 3
Options:

87827085889. 1
87827085890. 2
87827085891. 3
87827085892. 4

Question Number : 89 Question Id : 87827021716 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Which of the following are valid types of Abhinaya in Nritya ?
(1) Angika, Vachika, Aharya
) Angika, Aharya, Sattvika
) Vachika, Aharya, Sattvika
) Abharya, Sattvika, Vachika

2 2

(
(
(4
Options :

87827085893. 1
87827085894. 2
87827085895. 3
87827085896. 4

Question Number : 89 Question Id : 87827021716 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



T H A T 9T THR 9T 514 § ?
(1) 31fgeh, aifeh, e |

(2) oAfgeh, smemE, Hiftaeh |

(3) =ik, AR, Hifeh |

(4) ARHE, |ifas, afaes |

Options:

87827085893. 1
87827085894. 2
87827085895. 3

87827085896. 4

Question Number : 90 Question Id : 87827021717 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Who coined the term ‘Deconstruction’ ?
(1) Ferdinand de Saussure

2) Roland Barthes

(3) Jacques Derrida

(4) Michel Foucault

Options :

87827085897. 1
87827085898. 2
87827085899. 3
87827085900. 4

Question Number : 90 Question Id : 87827021717 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



“fogeTarg’’ s freH e ?

(1) e fe w8
(2) @ sy

(3) =g SfiE

(4) fovre gt
Options :

87827085897. 1
87827085898. 2
87827085899. 3

87827085900. 4

Question Number : 91 Question Id : 87827021718 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

Structuralism

(A) Emphasises on social inequality based on class.

(B)  Explores binary oppositions and how they create meanings,

(C) Analyses recurring patterns and structures across texs.

(D) Focuses on how literature reflects and reinforces class struggles and power dynamics.
(E) Explores the effects of cultural dominance.

Choose the most appropriate answer from the options given below :

(1) (B)and (C) only
(2) (B}, (C) and (D) only
() (&) (8), € (D)
() (A), (D)and (E) only
Options :

87827085901. 1
87827085902. 2
87827085903. 3
87827085904. 4



Question Number : 91 Question Id : 87827021718 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

EAe

(A) H o & R T qfe: faven o fon

(B)  fysnentt fordy 4 30 oy rm. oA 1 7 21 €, 39601 R 4 ¢

() fafe e 8 et o e el o foerm o e 21

(D) 78 i A kst o AT ¢ o e o e - it ot o)t el
T e ¢

(E) T T o el 1 T o T ¢

e o o et @ ) o o e

1 B) 4R ()

B),(C) 4

A), ), (©), (D), ()

A) 0 (@

E;

(1) e
(2) % | D)
(3) e |
(4) % |

SRR

4

Options :

87827085901. 1
87827085902. 2
87827085903. 3
87827085904. 4

Question Number : 92 Question Id : 87827021719 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following are true about Post-structuralism ?

(A) Tt focusses on discontinuity, difference, over-turning of traditional identities and dissolution
of hierarchies,

(B) It looks for alternatives to traditional ways of analysing truth.

(C) Jacques Derrida, Julia Kristeva and Gayatri Chakraborty Spivak are associated with it
(D) Belief in the idea of Post-truth.

(E) Breaking down boundaries of culture, history, society etc.

Choose the most appropriate answer from the options given below :

(1) (B), () and (D) only

Q) (4)and (O cnly
3) (&) (8) () (O (&)
(4)(C) (D) and (E) only
Options:

87827085905. 1
87827085906. 2
87827085907. 3
87827085908. 4

Question Number : 92 Question Id : 87827021719 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



freferfiga 5 ¥ % § 3R-GaR & 9 H T ¢ /

(A) T S, T, T Eae § Saett 3R I o fa5ed W hfed 2 |
(B) % W o feverom 3 wrewfies el & forben gamn €1

(C) e &fiel, e e, T T wherd Foveeh 30 Hg ¢ |

(

(

D) Wre-24 o e o

F) e, 3foem, T 40t a1 o 1 dre|
4 fou o femedi H 9 W IR 1 T HC;
(1) o (B), (C) ¥ (D)

2 (A) &R (C)

¢ (A), ), (O). (D), (B)

(

¥ (A
# (A), (B), (C)
4) 9 (C), (D) ¥R (B

)
)
)
)
Options:

87827085905. 1
87827085906. 2

87827085907. 3

87827085908. 4

Question Number : 93 Question Id : 87827021720 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following padas are of neuter gender ?
(A) Dwe

(B) Chatvari

(C) Ekah

(D) Trini

(E) Chatvarah

Choose the most appropriate answer from the options given below :

(1) (A), (B), (C) only
(2) (B), (C), (D) only
(3)  (A), (B), (D) only
(4) Q) (D), (E) only
Options:

878270859009. 1
87827085910. 2
87827085911. 3

87827085912. 4

Question Number : 93 Question Id : 87827021720 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



fe § 9§ m ug Tqae fom € 2

2488 2

> B
%%%%%g%@gw

(1)
(2)
(3)
(4)

=X

4

Options:

87827085909. 1
87827085910. 2
87827085911.3

87827085912. 4

Question Number : 94 Question Id : 87827021721 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following suffixes are of either atmanepadi or of parasmaipadi types ?
(A) Shanach

(B) Tavyat

(C) Shatri

(D) Aniyar

(E) Trich

Choose the most appropriate answer from the options given below :
(1) (B) (C) only

(2)  (B), (D) only
(3) (A), (C) only
(4)  (C), (A) only
Options:

87827085913. 1
87827085914. 2
87827085915. 3
87827085916. 4

Question Number : 94 Question Id : 87827021721 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



hee STHAYE! S cheel TEHUST HTqel | W =l ofel o4 § 7

(A) WA

(B) T

(C) 9

(D) ST

E) T

= few o fosred] §  wed SUgH IW F =TI HIWT :
(1) a4 (B), (O
(2) %ad (B), (D)
(3) F (A), (O
(4) 99 (C), (A)
Options :

87827085913. 1
87827085914. 2
87827085915. 3

87827085916. 4

Question Number : 95 Question Id : 87827021722 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



As per Jaina darshana, the Universe has which of the following lokas ?
(A) Urdhvaloka for devas

(B) Madhyaloka for human beings

(C) Adholoka as naraka

(D) Tapahloka for siddhas

(E) Akashaloka for bhutas

Choose the correct answer from the options given below :

(1) (A), (), (D) only

) (A), () (C) only
(3)  (A), (B), (E) only
(4)  (B), (O, (D) only
Options:

87827085917. 1
87827085918. 2
87827085919. 3

87827085920. 4

Question Number : 95 Question Id : 87827021722 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



S T o ITHR FEUS & ol ol & ?

(A) Tl — oA

(B) HACH — HIEIH

(C) AR — TREIH

(D) dU:aih - fageam

(E) SATRISIel — <™

=i feu 7T fashedi | | T&l 3T sl =94 Hife :

(1) ad (A), (B), (D)
(2) ad (A), (B), (O)
(3) Fad (A), (B), (E)
(4) FFd (B), (C), (D)
Options :

87827085917. 1
87827085918. 2
87827085919. 3
87827085920. 4

Question Number : 96 Question Id : 87827021723 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following fall in the category of Shatkarmas ?
(A) Kamyakarmas

(B) Nityakarmas

(C) Nishiddhakarmas

(D) Anaimittika karmas

(E) Upasana Karmas

Choose the correct answer from the options given below :

(1) (&), (B), (©), (D) only
(2)  (B), (©), (D), (E) only
(3)  (A), (©), (D), (E) only
(4)  (A), (B), (C), (E) only
Options:

87827085921. 1
87827085922. 2
87827085923. 3

87827085924. 4

Question Number : 96 Question Id : 87827021723 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



(A) SHTIRH

(B) fiasH
(C) fafugsH
(D) Hfafdes *H
(E) 39THAT &H

== fou U fasreqi § 9 Wet S 1 994 Hifd :

(1) = (A), (B), (C), (D)
(2) ad (B), (Q), (D), (E)
(3) =d (A), (O), (D), (E)
(4) FFE (A), B), (O), (B)
Options :

87827085921. 1
87827085922. 2
87827085923. 3
87827085924. 4

Question Number : 97 Question Id : 87827021724 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following explicit relationships aid in experiential (pratyaksha) knowledge ?
(A) Atma-mana relationship.

(B) Mana-indriya relationship.

(C) Atma-indriya relationship.

(D) Indriya-padartha relationship.

(E) Mana-padartha relationship.

Choose the correct answer from the options given below :

(1) (8), (C) () only
(2) (C), (D), (E) only
() (&) (€), (D) only
(4)  (4), (), (D) only
Options:

87827085925. 1
87827085926. 2
87827085927. 3
87827085928. 4

Question Number : 97 Question Id : 87827021724 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



TSI B i H Gl T e o © /
(A) STcHT &1 H9 H Ty

(B) HA @ 3f=4 | Y
(C) AT =1 359 | gy
(

(

D) 3f=a o1 e § gy

E) W% e § gy
== fou U fasreqi § 9 Wet S 1 994 Hifd :

(1) & (B), (O), (D)
(2) Fd (C), (D), (E)
(3) FFA (A), (O), (D)
(4) FFA (A), (B), (D)
Options :

87827085925. 1
87827085926. 2
87827085927. 3

87827085928. 4

Question Number : 98 Question Id : 87827021725 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following are types of Drama ?
(A) Nataka

(B) Bhana

(C) Samavakara
(D) Nandi

(E) Ihamriga
Choose the most appropriate answer from the options given below :

(1) (A), (B), (C), (D) only
(2) (), (C), (D), (E) only
(3) Q) (D), (), (A) only
() (A), (8), (C) (E) only
Options:

87827085929. 1
87827085930. 2
87827085931. 3

87827085932. 4

Question Number : 98 Question Id : 87827021725 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



(A) TRH

(B) T

(C) HHIhR

(D) =<

(E) e

= feu e faskedi | | wad SugeR ST Al =F il
(1) = (A), (B), (C), (D)

(2) = (B), (O), (D), (E)

(3) wad (), (D), (E), (A)

(4) aE (A), (B), (C), (E)

Options:

87827085929. 1
87827085930. 2
87827085931. 3
87827085932. 4

Question Number : 99 Question Id : 87827021726 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following are mutually related ?

(A) Jivatma - Sharira

(B) Guru - Shishya

(C) Devata - Mandira

(D) Akasha - Gagana

(E) Darshana - Indriya

Choose the most appropriate answer from the options given below :

(1) (A), (B), (C), (D) only
(2) (B), (©), (D), (E) only
(3)  (A)(C), (D), (E) only
() (A), (8), (C) (E) only
Options:

87827085933. 1
87827085934. 2
87827085935. 3

87827085936. 4

Question Number : 99 Question Id : 87827021726 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



T 9§ T TR Hafyd § ?

(A) SfEmAT - TR
(B) & - e

(C) <odl - AfT
(D) RN - TWH
(E) <9 - 3fex

= feu e faskedi | | wad SugeR ST Al =F il

(1) %¥d (A), (B), (O), (D)
(2) FFd (B), (C), (D), (E)
(3) FFd (A), (O), (D), (E)
(4) aE (A), (B), (C), (E)
Options :

87827085933. 1
87827085934. 2
87827085935. 3
87827085936. 4

Question Number : 100 Question Id : 87827021727 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which three texts are part of Tripitaka ?
(A) Vyavaharapitaka

(B) Suttapitaka

(C) Vinayapitaka

(D) Prashnapitaka

(E) Abhidhammapitaka

Choose the correct answer from the options given below :
(1) (A), (B), () only

(2)  (B), (©), (E) only

(3)  (B), (C), (D) only

(4) (&), (©) (E) only

Options:
87827085937. 1
87827085938. 2

87827085939. 3

87827085940. 4

Question Number : 100 Question Id : 87827021727 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



ot o & -2 A e P 3 i 2

(A) FIBRIUCH
(B) Hufyes

(C) faqafues
(D) YvAueh

(E) aAf9erigesh

== fou U fasreqi § 9 Wet S 1 994 Hifd :

(1) ad (A), (B), (O)
(2) ad (B), (), (E)
(3) Fad (B), (C), (D)
(4) FFE (A), Q) (B)
Options :

87827085937. 1
87827085938. 2
87827085939. 3
87827085940. 4

Question Number : 101 Question Id : 87827021728 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which principle in Jainadarshana defines various dimensions of reality ?
(A) Syadvada

(B) Pratityasamutpada

(C) Anekantavada

(D) Satkaryavada

(E) Saptabhanginaya

Choose the correct answer from the options given below :

(1) (A), (B) and (E) only
() (A), () and (E) only
3) ®)(C )and( ) only
(4) (O, (D) and (E) only
Options:

87827085941. 1
87827085942. 2
87827085943. 3

87827085944. 4

Question Number : 101 Question Id : 87827021728 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



1 70 % o Tl o e 3 Fofort el =) oot e 7o €2

(A) AT

(B)  FeleoeS

(C) 3T

(D) HehrddTg

(E) @i

A feu v fawedi o 9 Wl ST 1 =2 HifS
(1) 5 (A), (B) ¥R (E)
(2) 9 (A), (C) ¥R (E)
(3) e (B), (C) 3 (E)
(4) 9 (C), (D) ¥R (E)
Options :

87827085941. 1
87827085942. 2
87827085943. 3

87827085944. 4

Question Number : 102 Question Id : 87827021729 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



[dentify from the following who were relatives of Vanara-king Vali :
(A) Hanumana

(B) Jamavanta

(C) Angada

(D) Sugriva

(E) Tara

Choose the correct answer from the options given below :
(1) (A), (), (C)only

(2) (B), (C), (D) only
(3) (O (D), (E) only
(4) (A), (D), (E) only
Options:

87827085945. 1
87827085946. 2
87827085947. 3

87827085948. 4

Question Number : 102 Question Id : 87827021729 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



fr=fafad ° 9 o[ 9w arelt 9 Jefyd o ¢

(A) TR
(B) SIHAd
(C) 3]
(D) ¥ia
(E) dw
== fou U fashedi § 9 Wal 3T 1 994 Hifey
(1) <ad (A), (B), (O
(2) #Fa (B), (O), (D)
(3) &ad (), (D), (E)
(4) FFA (A), (D), (E)
Options :

87827085945. 1
87827085946. 2
87827085947. 3
87827085948. 4

Question Number : 103 Question Id : 87827021730 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The reference to Sitaji crossing the Lakshmana-Rekha features in which of the following texts
(A) Valmiki Ramayana

(B) Ramacharitamanasa

(C) Kamba Ramayana

(D) Adbhuta Ramayana

(E)  None of the above

Choose the correct answer from the options given below :

(1) (A), (), (C) only
(2) (), (), (D) only
() (B), (€), (D) only
(4) (E) only
Options:

87827085949. 1
87827085950. 2
87827085951. 3

87827085952. 4

Question Number : 103 Question Id : 87827021730 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



TSl g T1eH Y IR S o e 1 oot e | 9 for ol A e & 2

Options:

87827085949. 1
87827085950. 2
87827085951. 3

87827085952. 4

Question Number : 104 Question Id : 87827021731 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following help in the determination of an intention ?
(A) Desire (Akansha)

(B) Samhita (collection of verses)

(C) Sannidhi

(D) Yogyata (Capability)

(E) Arthanirnaya (Determination of meaning)

Choose the correct answer from the options given below :
(1) (4), (B), (E) only

(2) (B), (D), () only
(3) (A) (©), (D) only
(4)  (A), (D), (E) only
Options:

87827085953. 1
87827085954. 2
87827085955. 3

87827085956. 4

Question Number : 104 Question Id : 87827021731 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



(A) SATeRien
(B) fedr
(C) wf=fy
(D) ARI
(E) S1dfuiyg
= feu v fasreqi ¥ 9 W& 3T R =994 Hifsu
(1) ad (A), (B), (E)
(2) 9 (B), (D), (E)
(3) FFA (A), (O), (D)
(4) FFA (A), (D), (E)
Options :

87827085953. 1
87827085954. 2
87827085955. 3

87827085956. 4

Question Number : 105 Question Id : 87827021732 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



In Bhagvadgita, Srikrishna recommends that a person seeking moksha should do
A) Karma

(B) Vikarma

(C) Sakarma

(D) Nishkama karma

(E) Akarma

Choose the correct answer from the options given below :

(1) (), (), (€) only
(2) (A), (), (D) only
(3) (D) only
(4) (B), (C), (D) only
Options:

87827085957. 1
87827085958. 2
87827085959. 3

87827085960. 4

Question Number : 105 Question Id : 87827021732 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Mwwﬁﬂmﬁaﬁwa;wﬁwﬁai T =g |
) A

(A
(B) faerd

(C) §FH

(D) freermed

(E) A

= feu U fasredi § 9 W& 3T A FIH HIfAU ;
(1) % (A), (B), (C)

(2) e (A), (B), (D)

(3) %@ (D)

(4) %@ (B), (), (D)

Options :

87827085957. 1
87827085958. 2
87827085959. 3

87827085960. 4

Question Number : 106 Question Id : 87827021733 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - II :

List - I List - II
A) Gaze (I)  Structuralism
(B) Post trueth (II)  Postcolonialism
(C) Narratives of colonised (II) Feminism

(D) Social and cultural structures (IV) Postmodernism
Choose the correct answer from the options given below :

(1) (A)-(LL), (B)-(1), (C) (V) (D)-(11)
(2) (A, (B)-(IV), (©)-1), (D)-0)
(3) (A1), (B)-(IL), (CO-(1V), (D)-(I)
(4) (A1), B)-1), (O-1D), (D)-(IV)
Options:

87827085961. 1
87827085962. 2
87827085963. 3

87827085964. 4

Question Number : 106 Question Id : 87827021733 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Telt-1 o W9 Gei-11 1 ffed wifse
Toll-1 -1

(A) TG (W) () EEEE

(B) TR () S-St e

(C) frafird & STem (IIT) rae

(D) T T aegfos S (IV) S-S (TR Hieh)
1l feu Tu foshedl # § WE I A1 T il ;

(1) (A)-(mD, BHD, (©)-IV), (D)-(I)
(2)  (A)(I), BHIV), (C-(), (D)-(0)
() (A)(D), B, C-(1V), (D)-(I)
(4) (A1, (B)-(1), (O-(I, D)-IV)
Options :

87827085961. 1

87827085962. 2

87827085963. 3

87827085964. 4

Question Number : 107 Question Id : 87827021734 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - II :

List - I List - II
A) Adi-parva ()  Arjuna’s meeting with Urvashi
(B) Sabha-parva (I)  The slaying of Kichaka
(C) Vana-Parva (II) Death of Pandu
(D) Virata-Parva (IV) Rajasuya Yajna
Choose the correct answer from the options given below :
(1) (A)MIV), (B, (©-(1), (D}(I)
(2) (AU, B)IV), (©O-(t), (D))
(3) (A1), (B)-(Ll), (C)-(I), (D)-()
(4)  (AMIL), BHIV), (©-(1), (DHT)
Options:

87827085965. 1
87827085966. 2
87827085967. 3

87827085968. 4

Question Number : 107 Question Id : 87827021734 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



elt-1 o 19 Fe-11 1 fHeam ife
ell-1 -1I

(A) @mfe-d 0 3 S @ fred
(B) HW-Td (II) <hi=ek aY

(C) - (IIT) g ht Jo]

(D) fotre-vd (IV) T 7]

4 fqu T foshed] § ¥ Wl 3T F1 99 Fifa

(1) (A)-(IV), (B)-(IID), (O)-(I), (D)-(IT)

(2) (A1), (B)-(IV), (O)-(II), (D)-()

(3) (A)-(IV), (B)-(1I), (C)-(I1L), (D)-(I)

(4) (A)-(ID), (B)-(IV), (O)-(I), (D)-(II)

Options :

87827085965. 1
87827085966. 2
87827085967. 3

87827085968. 4

Question Number : 108 Question Id : 87827021735 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - II :

List - 1 List - II
(A) Kadru () Abhimanyu
(B) Uttara (II) Arjuna
(C) Shachi (III) Kashyapa
(D) Yajyajseni (IV) Shakra

Choose the correct answer from the options given below :

(1) (A)-(1D), (B)-(I), (O)-(1V), (D)-(I1)
(2) (A, (B)(D), (O-(1), (D)}-(IV)
(3)  (A)-(D), (B)-(1l), (C)-(1), (D)-(IV)
(4)  (A)-(I), (B)-(IIT), (O-(IV), (D)-(I)
Options:

87827085969. 1
87827085970. 2
87827085971. 3

87827085972. 4

Question Number : 108 Question Id : 87827021735 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



TEt-1 & WY Fei-11 1 e Hifse
qeit-1 Teit-11

(A) g (n STy
(B) 3T () T
(C) = () 7Y
(D) IR (IV) 5k
== fou 7u fapedi § 9 W& 3T &1 999 Fifeg
(1) (A)-(D), (B)-(1), (C)-(IV), (D)-(IT)

(2) (A)-(ID), (B)-(1), (CO)-(1D), (D)-(IV)

(3)  (A)-(1), (B)-(II), (C)-(1D), (D)-(IV)

(4) (A)-(D), (B)-(UI), (C)-(IV), (D)-(IT)

Options :

87827085969. 1
87827085970. 2
87827085971.3

87827085972. 4

Question Number : 109 Question Id : 87827021736 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - II :

List - 1 List - II
(A) Kichaka () Karna
(B) Jayadratha (II) Krishna
(C) Shishupala (IIT) Arjuna
) Ghatotkacha (IV) Bhima

(D
Choose the correct answer from the options given below :

(1) (A)-(D), (B)-(LL), (O)-(ILL), (D)-(1V)
(2)  (A)-(IV), (B)-(IID), (O)-(1), (D)-(I)
(3)  (A)-(ID), (B)-(IV), (O)-(0), (D)-(I)
(4)  (A)-(IV), (B)-(ID), (O)-(1), (D)-0)
Options:

87827085973. 1
87827085974. 2
87827085975. 3

87827085976. 4

Question Number : 109 Question Id : 87827021736 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



TEt-1 & WY Fei-11 1 e Hifse

-1 Teit-11

(A) “hi=e® () @Y
(B) =Y () o
(C) fergura () STS{
(D) ®RIeHd (V) ¥

= fou e faskedi § 9 Wel 3™ 1 994 Hifed :
(1) (A)-D), (B)-(II), (O)-(1I), (D)-(IV)
(2) (A)-(IV), (B)-(11D), (O)-(D), (D)-(II)
(3) (A)-(1D), (B)-(IV), (O)-(D), (D)-(II)
(4)  (A)-(IV), (B)-(11D), (O)-), (D)-(I)
Options :

87827085973. 1
87827085974. 2
87827085975. 3

87827085976. 4

Question Number : 110 Question Id : 87827021737 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - II :
List - I List - II

(A) Dasharatha () Kishkindha

(B) Janaka (II)  Ayodhya

(C) Val (III) Lanka

(D) Kubera (IV) Mithila

Choose the correct answer from the options given below :
(1) (A)(IV)()()()()()()

(2)  (A)-(1D), B)-AV), (C)-(D), (D))

(3) (A1), (B)-1V), (O)-(U), (D)-()

(4)  (A)-0), (B)-(I), (CO)-(1I), (D)-(IV)

Options:

87827085977. 1
87827085978. 2
87827085979. 3
87827085980. 4

Question Number : 110 Question Id : 87827021737 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



TEt-1 & WY Fei-11 1 e Hifse
-1 Teit-11

(A) TIRY () forfsRen
(B) S (I) ST
(C) et (L) <

(D) F (Iv) fafere
= fou e fasdkedi § 9 Wel 3W 1 =994 Hifad :
(1) (A)-(IV), (B)-(I), (C)-(D), (D)-(1II)

(2)  (A)-(11), (B)-1V), (C)-(I), (D)-(I)

(3) (A)-(II), (B)-(IV), (C)-(1I), (D)-(T)

(4)  (A)-(I), (B)-(II), (O)-(II), (D)-(IV)

Options :

87827085977. 1
87827085978. 2
87827085979. 3
87827085980. 4

Question Number : 111 Question Id : 87827021738 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - II :

List - 1 List - II
A) Vali () Anjana
(B) Sugriva (II)  Sulochana
(C) Indrajita (III) Ruma
(D) Kesari (IV) Tara

Choose the correct answer from the options given below :

(1) (A)-(D), (B)-(LL), (O)-(ILL), (D)-(1V)
(2) (A1), (B)-(I), (C)-(1V), (D)-(IM)
(3)  (A)-(1V), (B)-(LD), (C)-11), (D)-()
(4) (A, (B)-(IV), (O)-0), (D)-(I)
Options:

87827085981. 1
87827085982. 2
87827085983. 3

87827085984. 4

Question Number : 111 Question Id : 87827021738 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



TEt-1 & WY Fei-11 1 e Hifse

-1 11

(A) are () s

(B) U () gere

(C) Z=sird (IIT) &HI

(D) & (IV) /I
= fou e faskedi § 9 Wel 3™ 1 994 Hifed :

(1) (A)-(I), (B)-(1I), (©O)-(11L), (D)-(1V)

(2) (A)-I), (B)-(), (O)-(IV), (D)~(II)

(3)  (A)1V), (B)-(11I), (O)-I), (D)-(I)

(4) (A)-(1D), (B)-(1V), (O)-(D), (D)-(II)

Options :

87827085981. 1
87827085982. 2
87827085983. 3

87827085984. 4

Question Number : 112 Question Id : 87827021739 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - II :

List - 1 List - II
(A) Indra () Chakra
(B) Rama (I)  Trishula
(C) Shiva (IlT) Dhanusha
(D) Vishnu (IV) Vajra

Choose the correct answer from the options given below :

(1) (A)-(D), (B)-(LL), (O)-(ILL), (D)-(1V)
(2)  (A)-(IV), (B)-(ID), (O)-(1), (D)-(I)
(3) (A, (B)-(IV), (O)-1), (D)-(I)
(4)  (A)-0), B)-(1), (O, (D)-(IV)
Options:

87827085985. 1
87827085986. 2
87827085987. 3

87827085988. 4

Question Number : 112 Question Id : 87827021739 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



TEt-1 & WY Fei-11 1 e Hifse
-1 Teit-11

(A) == () =
(B) TH (i) PR
(O = (L) =g
(D) a7 (V) &

= fou e faskedi § 9 Wel 3™ 1 994 Hifed :

(1) (A1), (B)-(I), (O)-(1L), (D)-(IV)
(2)  (A)-(IV), (B)-(I1), (O)-(I0), (D)-(I)
(3)  (A)-(I), (B)-(IV), (O)-), (D)-(1)
(4)  (A)-(ID), (B)-(D), (O)-(I), (D)-(IV)

Options :

87827085985. 1
87827085986. 2
87827085987. 3
87827085988. 4

Question Number : 113 Question Id : 87827021740 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - II :
List - I List - II
(A) Tukarama () Karnataka
(B) Chaitanya Mahaprabhu  (II) Uttara Pradesh
(C) Basavanna (IlT) Maharashtra
(D) Kabira (IV) Bengal
Choose the correct answer from the options given below :

(1) (A)-(1), (B)- (IV) (C)-(), (D)-(11I)
(2) (A1), (B)-(IV), (©)-(1), (D)-(I)
(3)  (A)-(1V), (B)-(LLD), (C)-(11), (D)-(I)
(4) (A, (B)-(I), (O-(I), (D)-(IV)
Options:

87827085989. 1
87827085990. 2
87827085991. 3

87827085992. 4

Question Number : 113 Question Id : 87827021740 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



TEt-1 & WY Fei-11 1 e Hifse

-1 -11
(A) THEH () FRH
(B) =d=d HaTgy () YL
(C) aHa— (III) HEN
(D) @R (IV) e
= fou T faswedl § 9 @& ST 1 F99 FIfS
(1) (A1), (B)-(AV), (O)-(1), (D)-(1L)

(2) (A1), (B)-(1IV), (O)-(1), (D)-(II)

(3)  (A)-(IV), (B)-(1I), (O)-11), (D)-(I)

(4)  (A)-ID), (B)-(1), (O)-(I), (D)-(IV)

Options :

87827085989. 1
87827085990. 2
87827085991. 3
87827085992. 4

Question Number : 114 Question Id : 87827021741 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - II :
List - I List - II
A) Avibhagadvaita () Nimbarkacharya
(B) Dvaita (I) Chaitanya Mahaprabhu
(€) Dvaitadvaita (II) Madhvacharya
(D) Achintyabhedabheda (IV) Vijnanabhikshu
Choose the correct answer from the options given below :

(1) (AHIV), (B)-(L), (O)-(1), (D)-(1)
(2) (A1), (B)-(D), (O, (D}-(IV)
(3) (A1), (B)-(), (©)-(1V), (D)-()
(4) (A1), B)-(), ©)-(), (D)-(1V)
Options:

87827085993. 1
87827085994. 2
87827085995. 3
87827085996. 4

Question Number : 114 Question Id : 87827021741 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



TEt-1 & WY Fei-11 1 e Hifse
qeit-1 -1I

(A) SAfgarmEa 1) e
(B) &d (I) == 7eWY
(C) Bdrgd () Hear=rd
(D) Afe=a9gg (IV) fasmfagg

= feu 7t fashedi § 9 WE 3T A 94 HIfSU .

(1) (A)-1V), (B)-(1L), (O)-(), (D)-(1})
(2)  (A)-10), (B)-(I), (O)-(I), (D)-(IV)
(3)  (A)-1), (B)-(L), (©)-(IV), (D)-(I)
(4)  (A)-(1), (B)-(LD), (©)-(D), (D)-(1V)
Options :

87827085993. 1
87827085994. 2
87827085995. 3
87827085996. 4

Question Number : 115 Question Id : 87827021742 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - II :
List -1 List - II

A) Pratyaksha () Atideshavakyagraha
(B) Anumana (I) Indriyarthasannikarsha
(€) Upamana (I) Sanketagraha
(D) Shabda (IV) Vyaptigraha

Choose the correct answer from the options given below :

(1) (A1), B)-1), (O-1V), (D)-(LL)
(2) (A1), B}, (C-(IV), (D)-(I)
(3)  (A)-(I), (B)-(IV), (C)-(T), (D)-(I)
(4) (A, (B}-(IV), (O)-(), (D)-(0)
Options:

87827085997. 1
87827085998. 2
87827085999. 3

87827086000. 4

Question Number : 115 Question Id : 87827021742 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



TEt-1 & WY Fei-11 1 e Hifse

-1 -11
(A) Tcae (1)  SAfTeeramERIE
(B) STIHM (1) sf=aneaf-rd
(C) 3udM (III) Heheus
(D) W] (IV) =Aeug

= fou e fasdkedi § 9 Wel 3™ 1 994 Hifad :

)-(1), (B)-(), (O)-(1V), (D)-(11L)
)-(1), (B)-(11I), (©O)-(1V), (D)-(I)
)-(I), (B)-(IV), (C)-(1), (D)-(I)
)-(I1I), (B)-(1V), (O)-(ID), (D)-(I)
Options :

87827085997. 1

87827085998. 2

87827085999. 3

87827086000. 4

Question Number : 116 Question Id : 87827021743 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - II :

List - 1 List - II
A) Yathashakti (I)  Bahuvrihi samasa
(B) Pitambarah (II)  Tatpurusha samasa
(C) Pitarau (IT) Avyayibhava samasa
(D) Rajapurushah (IV) Dvandva samasa
Choose the correct answer from the options given below :

(1) (A)-(), (B)-(1), (O-(1V), (D)-(L)
(2) (A, (B)-(IV), (©)-(1), (D)-(IT)
(3) (A1), B)-(D), (OHIV), (D)-(II)
(4)  (AHIV), (B)-(II), (O)-I0), (D)-(0)
Options:

87827086001. 1
87827086002. 2
87827086003. 3

87827086004. 4

Question Number : 116 Question Id : 87827021743 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



-1 & | -1 %1 fHam Sife

-1 -1I

(A)  TgmEITHR 1) wgdifeqn ™
(B) iamer: (1) Tegey H9E
(C) faad (ITT)  SAATTEHHTH
(D) USTqs: (IV) Eaqard

)-(111), (B)-(D), (Q)-(1V), (D)-(II)
)-(I1), (B)-(1V), (O)-(1), (D)-(II)
)-(0), (B)-(D), (O)-(1V), (D)~(II)
)-(1V), (B)-(11D), (O)-(1I), (D)-(I)

Options :

87827086001. 1
87827086002. 2
87827086003. 3
87827086004. 4

Question Number : 117 Question Id : 87827021744 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - II :
List - I List - IT
A) Orientalism (I)  Jacques Derrida
(B) A Vindication of the Rights of a Woman () Roland Barthes
(

(C) The Death of the Author [) Mary Wallstonecraft
(D) Structure, Sign and Play (IV) Edward Said
Choose the correct answer from the options given below :

() (A ) (BJ-11), (CR(LLL), (D)-(1

(2) (A1), B, (©-(I), D)-{)

() (AD), (B}(L), (O, D)-(IV)

(4)  (AMIV), (B, (CHI), D))

Options :

87827086005. 1
87827086006. 2
87827086007. 3
87827086008. 4

Question Number : 117 Question Id : 87827021744 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Tell-1 o 919 Gelt-11 1 freT ife -

Telt-1 -1I
(A) W (SfteferH) (
(B) & fafehum &I T TEeq A® A oA () i e
(C) T Y & g A (
(D) ¥R, T W (
i fou T fashedi 4 9 WE S F T FifaC
(A)HIV), (B)-(1I), (C)-(I), (D)-(T)
(AHIV), (B)-(III), (C)-(1), (D)-(T)
(A)-(I), (B)-(1I), (C)-(I), (D)-(IV)
(A)-IV), (B)- )-(1)

(
(
(
( V), (B)-(), (C)-(IIT), (D)-(

1)
2)
3)
4)

Options :

87827086005. 1
87827086006. 2
87827086007. 3

87827086008. 4

Question Number : 118 Question Id : 87827021745 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - II :
List - I List - II

(A) Chhanda (I) Lagadha
(B) Jyotisha (I)  Yaska
(C) Vyakarana (II) Pingala

) Nirukta (IV) Panini

(D
Choose the correct answer from the options given below :

(1) (A)-(1D), (B)-(I), (O)-(1V), (D)-(I1)
(2)  (A)-(), (B)-(I), (O-(I), (D)-(IV)
(3)  (A)-(), (B)-(LL), (C)-(1V), (D)-(11)
(4) (A0, (B)-(I), (O)-(11D), (D)-(1V)
Options:

878270860009. 1
87827086010. 2
87827086011. 3

87827086012. 4

Question Number : 118 Question Id : 87827021745 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



TEt-1 & WY Fei-11 1 e Hifse

-1 Teit-11
(A) B ) Y
(B) SHIfaw () ArE=h
(C) AR (1) fored
(D) faee (IV) Trforfg
= fou T faswedl § 9 @& ST 1 F99 FIfS
(1) (A)-(11L), (B)-(1), (O)-(1V), (D)-(11)
(2) (A)-(1), (B)-(I), (O)-(ID), (D)-(IV)
(3) (A1), (B)-(1I), (C)-(1V), (D)-(II)
(4)  (A)-(D), (B)-(II), (O, (D)-(IV)

Options :

87827086009. 1
87827086010. 2
87827086011. 3
87827086012. 4

Question Number : 119 Question Id : 87827021746 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - II ;

List - I List - II
A) Kasmai devaya havisha vidhema () Nasadiya sukfa
(B) Yajnena yajnamayajanta devah (I) Vak sukta
(C) Aham rudrebhih vasubhishcharami ~ (III) Hiranyagarbha sukta

(D) Anidavatam swadhaya tadekam (IV) Purusha sukta
Choose the correct answer from the options given below :

(1) (AL, B}I), (CIL), (D}LV)
(2)  (A)-(I), B)-0), (-, (D}IV)
(3)  (A)-(I), (BHIV), (C)-(IT), (D)-(])
(4)  (A)-(IV), (B)-(II), (C)-(), (D)-(T)
Options:

87827086013. 1
87827086014. 2
87827086015. 3

87827086016. 4

Question Number : 119 Question Id : 87827021746 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



TEt-1 & WY Fei-11 1 e Hifse

(A) FHH g™ sfaw fagy () rEEE g
(B) I FFHAS <: () % g

(C) 31 Tafy: agfug=aaiy (1) ey g
(D) STHIGaTd S9al deshy (IV) T&9 g

= feu 7t fashedi § 9 WE I H 94 HIfSU .

() (A)-(D), (B)-(1), (O)-(1LD), (D)-(1V)
(2)  (A)-), (B)-1), (O)-(II), (D)-(IV)
(3)  (A)-(I), (B)-(IV), (O)-), (D)-(I)
(4)  (A)-IV), (B)-(IM), (O)-(I), (D)-(II)
Options :

87827086013. 1
87827086014. 2
87827086015. 3

87827086016. 4

Question Number : 120 Question Id : 87827021747 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - II ;
List - 1 List - II

A) Shrautasutra () Analysis of samskaras

(B) Grihyasutra ()  Method to construct yajnavedi
(C) Dharmasutra (II) Analysis of yajnas

(D) Sulbasutra (IV) Varnashrama dharma

Choose the correct answer from the options given below :

(D) (AHD), B)-(I), (O-(IL), (D}(IV)
(2)  (A)(ID, (B)-(1), (CHIV), (DRI
(3)  (A)-(D), B)-(IV), (O, (D)-(I)
(4) (A, B)IV), (O-0), (D)
Options:

87827086017. 1
87827086018. 2
87827086019. 3

87827086020. 4

Question Number : 120 Question Id : 87827021747 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



TEt-1 & WY Fei-11 1 e Hifse

(A) A @) TR 1 faEe |
(B) TR (1) <ten fmio =t fafy )
(C) wHgH () &= =1 ferer= |
(D) AT (IV) SoTHmE

= fou e faskedi § 9 Wel 3™ 1 994 Hifed :
(1) (A)-(D), (B)-(1I), (O)-(111), (D)-(IV)
(2) (A)-(I), (B)-(I), (O)-(IV), (D)-(II)
(3)  (A)-(D), (B)-(IV), (O)~(11), (D)-(III)
(4)  (A)-(ID), (B)-(IV), (O)-), (D)-(II)
Options :

87827086017. 1
87827086018. 2
87827086019. 3

87827086020. 4

Question Number : 121 Question Id : 87827021748 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - 11 :
List -1 List - II

A) Tattvavaisharadi () Keshava Mishra
(B) Upaskara Tika (I) Vachaspati Mishra
(C) Tarkabhasha (IIT) Vachaspati Mishra
(D) Tatparyatika (IV) Shankara Mishra
Choose the correct answer from the options given below :
(1) (A)-(1), (B)-1V), (€)-(1), (D)-(L)

(2)  (AAIV), (B)-(ID), (C)-(1), (D)-(1)

(3) (M), (B)-(), (O-(1), (D)}-(IV)

(4)  (A)AD), (B)-(H), (C-(D), (D}IV)

Options:

87827086021. 1
87827086022. 2
87827086023. 3

87827086024. 4

Question Number : 121 Question Id : 87827021748 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



TEt-1 & WY Fei-11 1 e Hifse
qeit-1 Teit-11

(A) TEAIRE 1) *va fas
(B) SUERR el (II) ar=Eafd fag
(C) ek (IIT) ==t fag
(D) dTcqEra (IV) wrgt fag

== fou e fasdkedi § 9 Wel 3W 1 994 Hifed :

(1) (A1), (B)-(V), (O)-(D), (D)-(IL)
(2)  (A)-(IV), (B)-(II), (C)-(D), (D)-(m)
(3)  (A)-(D), (B)-(II), (O)-(1L]), (D)-(IV)
(4)  (A)-(D), (B)-(I), (O)-(I), (D)-(IV)

Options :

87827086021. 1
87827086022. 2
87827086023. 3

87827086024. 4

Question Number : 122 Question Id : 87827021749 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange the following parvas of Mahabharata chronologically ?
(A) Adi

(B) Vana
(C) Bhishma
(D) Drona
(E) Virata
Choose the correct answer from the options given below :
(1) (&), (B) (&) D), (©)

(2) (A), (B), (D), (E), (©)
(3) (A), (B), (E), (©), (D)
(4) (A), (B), (O (E) (D)
Options:

87827086025. 1
87827086026. 2
87827086027. 3

87827086028. 4

Question Number : 122 Question Id : 87827021749 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



TRIYRA & f=iferd val =l ey 9 exafied wifsu :

(A) emfg
(B)
(C) st
(D) @
(E) forwe

== fou U fasreqi § 9 Wet S 1 994 Hifd :

(1) (A), (B), (E), (D), (C)
(2)  (A), (B), (D), (B), (C)
(3)  (A), (B), (E), (Q), (D)
(4) (&), (B), (O (E), (D)
Options :

87827086025. 1
87827086026. 2
87827086027. 3
87827086028. 4

Question Number : 123 Question Id : 87827021750 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The chronological order of the following Western theorists is
(A) Jacques Derrida

(B) Friedrich Nietzsche

(€) Sigmund Freud

(D) Karl Marx

Choose the correct answer from the options given below :
(1) (©), (&), ), D)



Options :

87827086029. 1
87827086030. 2
87827086031. 3
87827086032. 4

Question Number : 123 Question Id : 87827021750 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

frefafed Trem fagrer #1 tfdeifas w9 § |
(A) S <

(B) el fal

(C) fomve wrre

(D) ohTed A

= fou T faseyi ° 9 W& ST F1 994 HifeT ;

(1) (©, (A), (B), (D)

(2) (D), (A), (B), (O)
(3) (D), (B), (C), (A)
4) (O, (B), (D), (A)

Options:

!

87827086029. 1
87827086030. 2
87827086031. 3
87827086032. 4

Question Number : 124 Question Id : 87827021751 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange the following chapters from Srimadbhagavadgita sequentially.
(A) Arjuna-vishada-yoga

(B) Aksharbrahma-yoga

(C) Bhakti-yoga

(D) Samkhya-yoga

(E) Moksha-sannyasa-yoga

Choose the correct answer from the options given below :
(1) (D), (4), B), E), (©)

() (4), D), B), ) ()
() (A), D) B), ©) E)
(4) (A), (B) D). ©), (E)
Options:

87827086033. 1
87827086034. 2
87827086035. 3

87827086036. 4

Question Number : 124 Question Id : 87827021751 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



FrgsrTagiiidl o frmfafEd 1Al sl % § Hared Hifsu

(A)  STSTaEERT

(B) ARSI

(C) e

(D) HiEEn

(E)  H&TE=araan

= feu Tu fosmedi § 9 T& ST & T HIFFT ;
(1) (D) (A), (B), (E), (C)
(2) (A), (D), (B), (E), (©)
(3) (A), (D), (B), (O), (E)
(4) (A), (B), (D), (©), (E)
Options :

87827086033. 1
87827086034. 2
87827086035. 3

87827086036. 4

Question Number : 125 Question Id : 87827021752 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



As per Srimadbhagavadgita a jiva unrelated to Ishwara becomes miserable via which sequence ?
(A)  Abscence of immersion and commitment to Ishwara.

(B)  Abscence of peace.

(C) Abscence of knowledge.

(D) Abscence of happiness.

(E)  Abscence of wisdom.

Choose the correct answer from the options given below :

(1) (&) (),(C)
(2 (8) (), [O
) (©) ), E
(4 (4)®) O
Options:

87827086037. 1
87827086038. 2
87827086039. 3
87827086040. 4

Question Number : 125 Question Id : 87827021752 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



SIGATAGIIAITAR, $Ye § ST (379 Sitd 1 s Yok g1 q@ o1 311 & ¢ |
(A) el 1 9 |

(B) I 1 |

(C) forn 1 19|

(D) §@H &vE|

(F) =& &4 |

T feu T formedl H B W8 I H T Fif
(1) (A) (), (€

2 () ©) D)

E3 Q) (D), (E)

)
)
)
1) (4) ), (D)

Options :
87827086037. 1
87827086038. 2

87827086039. 3
87827086040. 4

Question Number : 126 Question Id : 87827021753 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange the following as per Srimadbhagavadgita, in the correct sequence :
(A) Anger to Delusion.

(B) Destruction of intellect to total destruction.

(C) Delusion to confusion.

(D) Destruction of intellect to confusion.

(E) Confusion to destruction of intellect.

Choose the correct answer from the options given below :

(1) (&), B) (), (E) only
2) (A) (©) (E), (B) only
(3) (C), (D), (), (A) only
(4) (A) (B), (E), (C) only
Options:

87827086041. 1
87827086042. 2
87827086043. 3

87827086044. 4

Question Number : 126 Question Id : 87827021753 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



ATIGIRTEGINAT o TR Tal 3hH hIF & ?
A) Y Y GHE |

(1) = (A), (B), (C), (E)
(2) ad (A), (Q), (E), (B)
(3) &= (C), (D), (B), (A)
(4) FFE (A), (B), (E), (O
Options :

87827086041. 1
87827086042. 2
87827086043. 3
87827086044. 4

Question Number : 127 Question Id : 87827021754 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



As per Bhagavadgita, desire envelops intellect, just as
(A) Smoke covers fire

(B) Strong lust envelops wisdom

(C) Anger envelops discriminative faculty

(D) Dirt envelops mirror

(E)  Womb envelops foetus

Choose the correct answer from the options given below :
1) (8) (©), (D)

2) (A) (D) ()

(A
3)  (A) (B) (E)
4 (O, D), (E)

Options:

(1)
(2)
(3)
(4)

87827086045. 1
87827086046. 2
87827086047. 3

87827086048. 4

Question Number : 127 Question Id : 87827021754 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



AragHTagIidl H &M 9 FfG o 3G 8 2l HHE T4 € ?
(A) ¥H ¥ afg F F9H |

(B) ™I & Afd & GHF |

(C) hi¥ ¥ gfg & FHMH |

(D) Hol ¥ g0 & HHMA |

(E) 3o 9 7Y o GHM |

== fou U fasreqi § 9 Wet S 1 994 Hifd :

(1) (B), (©), (D)
(2)  (A) (D) (E)
(3)  (A) (B) (E)
(4) (©), (D) (E)
Options :

87827086045. 1
87827086046. 2
87827086047. 3

87827086048. 4

Question Number : 128 Question Id : 87827021755 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



[n which sequence, desire and anger have been characterised in the Bhagavadgita ?
(A) Born of rajoguna

(B) Insatiable

(C) Obstructs pleasure

(D) Gives birth to extreme sins

(E) Permanent foe of jiva

Choose the correct answer from the options given below :

(1) (&) B) ©) )

2 () (©) D), E)
() (&) (€, O) &
4 (A)®)©) )
Options:

87827086049. 1
87827086050. 2
87827086051. 3

87827086052. 4

Question Number : 128 Question Id : 87827021755 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



AT H 2TH 1 h19 I HHI: HIA T4 & 7
(A) TS H 3G |

(B) W 7 W= T AT

(C) H&H aHF |

(D) WYY & S |

(E) Sita =1 fe3 913 |

== fou U fasreqi § 9 Wet S 1 994 Hifd :

(1) (A) (B), (©) (E)
(2)  (B), (O), (D), (E)
(3)  (A) (©), (D), (E)
(4) (&) (B), (©), (D)
Options :

87827086049. 1
87827086050. 2
87827086051. 3

87827086052. 4

Question Number : 129 Question Id : 87827021756 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Identify the flaws which a definition should be devoid of.
(A) Ativyapti

(B) Avyapti

(C) Sambhava

(D) Asambhava

(E) Virodha

Choose the correct answer from the options given below :
(1) (&) (B), (O

(2) (B) (©), (D)
(3) (O, D), (E)
(4) (A) (B), (D)
Options:

87827086053. 1
87827086054. 2
87827086055. 3
87827086056. 4

Question Number : 129 Question Id : 87827021756 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



awﬁﬁhaﬁfﬁﬁaﬁma@:

(A) sfqea
(B) AT

(C) H™E

(D) THE

(E) fauy

== feu T fasmeyl § 9 @& ST 1 F999 Sifeu
(1) (A) (B), (O
(2) (B), (©), (D)
3) (O, (D), (E)
(4) (A), (B), (D)
Options :

87827086053. 1
87827086054. 2
87827086055. 3
87827086056. 4

Question Number : 130 Question Id : 87827021757 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



As per Charakasamhita the correct sequence of tantrayukti is
(A) Yoga

(B) Pradesha

(C) Padartha

(D) Adhikarana

(E) Hetvartha

Choose the correct answer from the options given below :

(1) (&), B) (), D) ()

2) (D), (A), E), B), ()
() (4), D), E), ©), B
4) D) (4), E), ©) ®)
Options:

87827086057. 1
87827086058. 2
87827086059. 3

87827086060. 4

Question Number : 130 Question Id : 87827021757 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



%
.
3
2

(A) am

(B) Hadl

(C) e

(D) iR

(E) wwd

== fou U fashedi § 9 Wal 3T 1 994 Hifey

(1)  (A). (B). (©), (D), (E)

(2) (D), (A), (E), (B), (O)

(3) (A), (D), (E), (©), (B)

4) (D) (A), (E), (C), (B)
Options :

87827086057. 1
87827086058. 2
87827086059. 3

87827086060. 4

Question Number : 131 Question Id : 87827021758 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange the following indicators in the correct sequence as per the process of determining intention
tatparyanirnaya) ?

(

(A) Vakya
(B) Prakarana
(C) Linga
(D) Sthana
(E) Shruti

Choose the correct answer from the options given below :

(
(2 (B) (&) € (8) (D
) () (©) (&) (8) (D)
(4 (A) ®) € O)
Options:

87827086061. 1
87827086062. 2
87827086063. 3

87827086064. 4

Question Number : 131 Question Id : 87827021758 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



() (E) (©), (A), (D), (B)
(2)  (B), (A), (O) (B), (D)
(3)  (B), (©), (A), (B), (D)
(4) (&), (B), (O (D), (E)
Options :

87827086061. 1
87827086062. 2
87827086063. 3
87827086064. 4

Question Number : 132 Question Id : 87827021759 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange the following dialogues sequentially :

(A) Srikrishna - Arjuna Samvada

(B) Yaksha - Yudhishthira Samvada

(C) Yudhishthira - Bhishma Samvada

(D) Sanjaya - Dhristarashtra Samvada

(E) Vidura - Dhritarashtra Samvada

Choose the correct answer from the options given below :

(1) (B), (E) (A), (C), (D)

(
(2) (B) (E) (D), (A), (O
(3) (E), (B), (A), (D), (©)
(4)  (B), (B), (D), (©), (A)
Options:

87827086065. 1
87827086066. 2
87827086067. 3

87827086068. 4

Question Number : 132 Question Id : 87827021759 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



HeIvRd | f=fafaa gaci &1 98 %9 ¢ :

(A) HFE — ST FT |

(B) F&y - Ffuftex Harg |
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Options :

87827086065. 1
87827086066. 2
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Minimum Instruction Time : 0
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Given below are two statements : one is labelled as Assertion (A) and the other is labelled as
Reason (R).

Assertion (A) :  Application of the Western theory of postmodernism for analysing Bhartiyatihasa
texts may yield ideologically loaded conclusions,

Reason (R) :  Maharshi Valmiki's ‘Ramayana” and Maharshi Vedavyas's ‘Mahabharata” are
[tihasa texts.

In the light of the above statements, choose the correct answer from the options given below :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)

(3) (A)is true but (R) is false

(4)  (A)is false but (R) is true

Options:

87827086069. 1

87827086070. 2

87827086071. 3

87827086072. 4

Question Number : 133 Question Id : 87827021760 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827086069. 1

87827086070. 2

87827086071. 3
87827086072. 4

Question Number : 134 Question Id : 87827021761 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements : one is labelled as Assertion (A) and the other is labelled as
Reason (R).

Assertion (A): 'Varnashrama dharma’ is accepted in Vaidika as well as non-Vaidika traditions.

Reason (R) : ~Varnashrama dharma’ lays down conducts and ethics specific to different stages
of life.

n the light of the above statements, choose the correct answer from the options given below :
1) Both (A) and (R) are true and (R) is the correct explanation of (A)

2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)

3)  (A)is true but (R) is false
)
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(4) (A)is false but (R) is true



Options :

87827086073. 1
87827086074. 2
87827086075. 3

87827086076. 4

Question Number : 134 Question Id : 87827021761 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827086073. 1

87827086074. 2

87827086075. 3
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Question Number : 135 Question Id : 87827021762 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Given below are two statements : one is labelled as Assertion (A) and the other is labelled as
Reason (R).

Assertion (A): Anusvara and anunasika are ayogavaha.

Reason (R) :  The term ‘ayogavaha’ implies those sounds that are used only when combined
with swaras or vyanjanas,

[n the light of the above statements, choose the most appropriate answer from the options given

below :

(1) Both (A) and (R) are correct and (R) s the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)

(3) (A)is correct but (R) is not correct

(4)  (A) s not correct but (R) is correct

Options :

87827086077. 1
87827086078. 2
87827086079. 3

87827086080. 4

Question Number : 135 Question Id : 87827021762 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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87827086077. 1

87827086078. 2

87827086079. 3
87827086080. 4

Question Number : 136 Question Id : 87827021763 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements : one is labelled as Assertion (A) and the other is labelled as
Reason (R).

Assertion (A) : The origin of the sructuralist theory of the west was inspirated from Sanskrit
Linguistics.

Reason (R) :  Some of the prominent voices of the Western Structuralist and Post-Structuralist
theories emerged from the were also scholars of Sanskrit linguistics,

n the light of the above statements, choose the correct answer from the options given below :

1) Both (A) and (R) are true and (R) is the correct explanation of (A)

2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)

3)  (A)s true but (R) is false
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(4)  (A)is false but (R) is true



Options :

87827086081. 1
87827086082. 2
87827086083. 3

87827086084. 4

Question Number : 136 Question Id : 87827021763 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
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Options :
87827086081. 1
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87827086083. 3
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Question Number : 137 Question Id : 87827021764 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement I:  Latest theories of feminism emphasise on intersectionality; e.g. gender with race,
class, sexuality and disability, etc.

Statement I :  Western feminists believe that gender is a social construct and it has nothing to
do with biological facts.

In the light of the above statements, choose the correct answer from the options given below :
(1) Both Statement [ and Statement IT are true

(2) Both Statement I and Statement I are false

(3) Statement I is true but Statement I is false

(4) Statement I is false but Statement I1 is true

Options :

87827086085. 1

87827086086. 2

87827086087. 3

87827086088. 4

Question Number : 137 Question Id : 87827021764 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Question Number : 138 Question Id : 87827021765 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement I:  The Anustupa metre consists of eight letters in each of its four charanas, and the
fifth letter in each charana is a short vowel,

Statement I :  Anustupa belongs to matrika class of metres. Itis used for stuti (worship).
n the light of the above statements, choose the correct answer from the options given below :
1) Both Statement I and Statement II are true

2)  Both Statement [ and Statement I are false

3) Statement I s true but Statement I1 is false

4)  Statement I is false but Statement [T is true

[
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(

Options:

87827086089. 1
87827086090. 2
87827086091. 3

87827086092. 4

Question Number : 138 Question Id : 87827021765 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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87827086089. 1
87827086090. 2
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Question Number : 139 Question Id : 87827021766 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements related to critical theory.

Statement I Our identities, like that of gender, individual self-hood, and even the notion of
literature are fluid and unstable,

Statement IT:  Western scholars of critical thoery largely believe that all thinking and investigation
is affected and determined by prior ideological commitments.

n the light of the above statements, choose the correct answer from the options given below :
J  Both Statement I and Statement IT are true

2)  Both Statement [ and Statement II are false

3)  Statement I s true but Statement Il is false
) Statement I is false but Statement II is true

Options :

87827086093. 1
87827086094. 2
87827086095. 3

87827086096. 4

Question Number : 139 Question Id : 87827021766 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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87827086094. 2
87827086095. 3
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Question Number : 140 Question Id : 87827021767 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements regardjng Marxist theories.
Statement I:  Marxists believe that literature is influenced by socio-economic and cultural forces,

Statement I They relate the works of literature to the asuumptions and the social period in
which they were ‘produced and ‘consumed'.

In the light of the above statements, choose the correct answer from the options given below :
(1) Both Statement I and Statement I are true

(2) Both Statement I and Statement IT are false

(3) Statement I is true but Statement I1 is false

(4) Statement I is false but Statement II is true

Options:

87827086097. 1

87827086098. 2

87827086099. 3

87827086100. 4

Question Number : 140 Question Id : 87827021767 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827086097. 1
87827086098. 2
87827086099. 3
87827086100. 4

Sub-Section Number : 2
Sub-Section Id : 878270963
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Id : 87827021768 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (141 to 145)

Question Label : Comprehension



Read the following passage and answer the question :

Rigveda proclaims that the truth, which i often referred to as Indra, Mitra, Varun, and Agni is
ultimately One. Hence, as per the Hindu tradition Supreme Entity has been described in male as well as
female forms. In the Vak Sukta of the Rigveda, the Supreme Entity has been described in the feminine
form. In this Sukta Vagdevi says, “I being the Goddess of the entire world am instrumental in providing
riches to my devotees. I hold the key position among the deities worshipped, and know Brahman as my
indispensable entity. T exist in various forms in the material world. All actions performed by the Devas
abiding in several places are directed to me only. Itis me who strings the bow of Rudra for slaying the
violent and Brahman-abhoring Asuras. [ pervade the entire earth and the sky. Itis Iwho engenders the
Sky, which is the father of the world. Hence I exist in all the worlds,

Extending this reality of the mantra ‘Ekam sad Vipra Bahudha Vadanti” further, the Brihadaranyaka
Upanishad says, “Indro Mayabhih Pururupa Iyate” implying that the supreme entity assumes several
forms by employing Maya. Whatever is visible and perceptible in this world has originated from Indra’s
maya only. The same has been articulated by Krishna in Srimad Bhagawadgita. He says, ‘T, Vasudeva,
am the sole sotce of creation of the entire world, and the entire world endeavours through me only,
My wise devotees offer themselves to me with such an understanding, I uphold this entire Cosmos
through a mere fraction of my yogic powers

Therefore, the distinction between the male and the female is not accepted in the Hindu thought. Both

forms are understood as manifestations of the same Supreme Enfity and both forms are used to worship
the only One,

Sub questions

Question Number : 141 Question Id : 87827021769 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
In the Hindu tradition (according to the passage)

(1) Supreme entity is male.

(2) Supreme entity is in both forms; female and male.
(3) Supreme entity is neither male nor female.

(4) Supreme entity is only property-less and formless.

Options :
87827086101. 1

87827086102. 2



87827086103. 3
87827086104. 4

Question Number : 142 Question Id : 87827021770 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

The founding Devi of the entire world :

(1) does not facilitate the devotee attain knowledge.

) is not different from Brahman.

) 1is secondary amongst the deities,

)  does not exist in varying forms via five material elements.

D3 b2
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Options:

87827086105. 1
87827086106. 2
87827086107. 3
87827086108. 4

Question Number : 143 Question Id : 87827021771 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The Omnipresent and the all Supreme Paramatma is :
(1) The father of the world in the form of sky.

(2) Nonpervasive in the entire world.
(3) not controlling from the within.
(4) Rudra’s dhanusha.

Options:
878270861009. 1
87827086110. 2

87827086111. 3



87827086112. 4

Question Number : 144 Question Id : 87827021772 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

According to Rigveda :

Devas like Indra, Mitra, Varuna efc. are suigeneris entities.
Indra holds an inferior status among the devas.

Rudra is the supreme deva.

None of the above.
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Options :

87827086113. 1
87827086114. 2
87827086115. 3

87827086116. 4

Question Number : 145 Question Id : 87827021773 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In accordance with Hindu thoughts

) The feminine element is secondary.

2)  The masculine element is secondary.

(3) Distinction between the two forms is not acceptable.
) None of the above.

Options:

87827086117. 1
87827086118. 2
87827086119.3

87827086120. 4



Question Id : 87827021768 Question Type : COMPREHENSION Sub Question Shuffling Allowed
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None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (141 to 145)

Question Label : Comprehension
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Question Number : 141 Question Id : 87827021769 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
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87827086101. 1

87827086102. 2

87827086103. 3
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Question Number : 142 Question Id : 87827021770 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Question Number : 143 Question Id : 87827021771 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
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87827086111. 3
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Question Number : 144 Question Id : 87827021772 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Question Number : 145 Question Id : 87827021773 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
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87827086118. 2

87827086119. 3

87827086120. 4

Sub-Section Number : 3
Sub-Section Id : 878270964
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Id : 87827021774 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Question Numbers : (146 to 150)

Question Label : Comprehension



Read the following passage and answer the question :

"I believe, that the civilization India has evolved is not to be beaten in the world. Nothing can
equal the seeds sown by our ancestors. Rome went, Greece shared the same fate; the might of the
Pharaohs was broken; Japan has become Westernized; of China nothing can be said; but India is stil,
some how ... sound at the foundation .... what we have tested and found true on the anvil of experience,
we dare not change. Many thrust their advice upon India, and she remains steady. This is her beauty ...
Civilization is that mode of conduct which points out to man the path of duty. Performance of duty and
observance of morality are convertible terms. To observe morality is to attain mastery over our mind and
OUr passions...

If this definition be correct, then India ... has nothing to learn from anybody else .... We notice that the
mind is a restless bird; the more it gets the more it wants, and stll remains unsatisfied .... Our ancestors,
thetefore, set a limit to our indulgences ... A nation with a constitution like this is fiter to teach others
than to learn from others. This nation had courts, lawyers and doctors, but they were all within bounds.
Everybody knew that these professions were not particularly superior ... Justice was tolerably fair. The
ordinary rule was to avoid courts. There were no touts to lure people into them ... The common people
lived independently and followed their agricultural occupation ...

And where this cursed modern civilization has not reached, India remains as it was before .... The
tendency of the Indian civilization is to elevate the moral being, that of the Western civilization is to
propagate immorality. The latter is godless, the former is based on belief in God. So understanding and
30 believing, it behooves every lover of India to cling to the Indian civilization even as a child clings to the
mother's breast.”

(Adapted from Gandhiji's Hind Swaraj - Chapter : What is True Civilization ?)

Sub questions

Question Number : 146 Question Id : 87827021775 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

How is India different than Rome, Greece and Japan ?
(1) India is the newest nation relative to Rome, Greece, efc.

(2) While the original civilizations of Rome, Greece, and Japan do not exist anymore, the Indian
civilization has not fundamentally changed.

(3) India is the poorest nation.
(4)  None of these.

Options :



87827086121. 1
87827086122. 2
87827086123. 3

87827086124. 4

Question Number : 147 Question Id : 87827021776 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

How does the authour define ‘civilization” ?

(I) That which generates abundance and wealth.

That which generates strength and glory.

)  That which points an individual to the path of duty.
) All of the above.
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87827086125. 1
87827086126. 2
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Question Number : 148 Question Id : 87827021777 Question Type : MCQ Option Shuffling : No
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Why does the author think that India is fitter to teach others than to learn from others ?
(1) Because India is the oldest civilization.
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) Because India was the richest country for most part of its history.
) Because India was one of the largest civilizations.
)

Because Indian civilization leads a man to perform his duty and provides a logic for limiting
our indulgences,
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How does the author contrast between the Indian and the Western civilizations ?

(1) Indian civilization is far more ancient.

2)  There is no fundamental difference between the two civilizations.

&; Western civilization is rooted in democracy, unlike that of India.

(4)  Indian civilization tends toelevate the moral being while that of the West promotes immorality.
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What is the meaning of “attaining morality” as per the author ?
(1) Attain mastery over our mind and our passions.

) Read a book and blindly follow it.

) Obey the commands of an individual blindly.
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4)  None of the above.
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